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B.Com. Part  - I  Examination-2019

Subjects

Scheme of Examination

Distribution of Marks

Compulsory Suject :
1. (A) General Hindi

(B) General English

Or Elementary Hindi (In lieu of Comp. Hindi

Or Non Hindi speaking students)

Or History of Indian Civilization

2. Elementary Computer Application

3. Environmental Studies

Qualifying Course (For Non - Commerce Students)
5. Business Studies and Banking

6. Book Keeping

Core Subjects :
7. Accountancy & Business Statistics

8. Business Management

9. Economic Administration and Financial Management

Additional Optional Subjects
10. Garment Production & Export Management

Vocational Subjects :
11. Computer Applications

12. Tourism & Travel Management

SCHEME  OF  EXAMINATION

There shall be three (03) Sections in the Question paper.

Section A shall consist of ten questions (02 questions from each Unit),

of 02 marks each, all compulsory to be answered in around 50 words.

Section B shall consist of seven questions (at least 01 question from

each Unit) of 08 marks each, to be answered in around 200 words.  Five

questions must be answered out of given seven.

Section C shall consist of four questions (at least 01 question from

each Unit) of 20 marks each, to be answered in around 500 words.  Any

two questions must be answered out of given four.

The number of paper and the maximum marks for each paper to-
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natural environment,attraction created attractions conventions conference
centres international agreement.

Unit III
Tourism research - need for research, types of research, secondary data,
primary data, micro and macro data, research process. obtaining tour-
ism data.

Unit IV
Situation analysis - marketing environment, area analysis, competitor
analysis, product analysis, opportunity analysis, accessability analy-
sis, impact onecology, consumer behaviour, tourism segmentation.

Unit V
Marketing planning - definition developing performance, developing per-
formance objectives, developing a marketing action plan preparing. A
budget appropriate to the action obtain the feed back for control and
evaluation.
Marketing mix.
Suggested Books :
1 P.C.Singh : Tourism Marketing
2 Philip Kotler : Marketing Management : Analysis, Planning and control
London 1984.
3 Philip Kotler : Marketing for Non-Profit Organisations, New Jersey,
1975
4 Cooper Et. Al. : Tourism principles and practices Londan,1993

PAPER – II ENTREPRENEUR DEVELOPMENT
Unit I

Introduction, Function and tasks, Characteristics of Successful
Entrepreneures and its different types.

Unit II
Entrepreneurship infrastructure in India.
Setting up of a Travel Agency- Its department Functioning and Handling.

Unit III
Special issues and problems in setting a tourist unit for examples a
Hotel opening Legislation

Unit IV
Regulation registration licensing etc.

Unit V
Handling a tourist unit determining food cost, non etc.
Suggested Books:
Taud R.P. and Taub D.L. : Enterprises in India small scale industries
manohar New Delhi 1989
Tiwari V.K. Philip J. and Pandey A.N. : Small scale industry : success
and failures concept New Delhi 1992
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gether with the minimum marks required for a pass are shown against

each subject seperately. It will be necessary for a candidate to pass in

the theory part as Classification of successful cnadidates shall be as

follows :

First Division 60% of the aggregate marks prescribed at (a) Part I

Second Division48% Examination, (b) Part II Examination,

(c) Part II examination, taken together.

All the rest shall be declared to have hassed the examination, if they

obtain the minimum pass marks in each subject viz. 36% no division

shall be awarded at the part I and Part II Examination.

DISTRIBUTION OF MARKS

S.N. Name of the No. of Duration Max. Min. Pass
Subject/Papers Papers Marks Marks

Compulsory Subject :
1. General Hindi, 3hrs. 100 36

or Ele. Hindi (in liew of G.Hindi)

or History of Indian Civilization

(in liew of G.Hindi for

foreign students

2. General English 3hrs. 100 36

3. Elemantary ComputerTheory 2hrs. 100 36

4. Environmental Studies Theory 2hrs. 100 36

Qualifying Course :
5. Business Studies & Banking 3 hrs. 50 18

(For non Commerce Students only)

6. Book-Keeping 3 hrs. 50 18

(For non Commerce Students only)

Core Subjects :
7. Accountancy & Business Statistics

1. Financial Accounting 3hrs. 100 
} 200 72

2. Business Statistics 3hrs. 100

8. Business Management
1. Management 3hrs. 100 

} 200 72
2. Business Law 3hrs. 100

9. Economic Administration & Financial Management
1. Business Economics 3hrs. 100 

} 200 72
2. Economic Envoronment in India 3hrs. 100

Additional Optional Subject :-
10. Garment Production and

export ManagementPaper-I 3hrs. 60 
} 120 44

Paper-II 3hrs. 60

Practical 4hrs. 80 28
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configuration in IIS and

 Apache Web server

Unit II
BASICS OF PHP: PHP structure and syntax,Creating the PHP pages

,Rules of PHP syntax, Integrating HTML with PHP , Constants, Vari-

ables : static and global variable , Conditional Structure & Looping , PHP

Operators , Arrays, foreach loop , User defined function, function argu-

ments, function variables,  Return from Function, default argument, vari-

able length argument

Unit III
INTRODUCTION TO MYSQL : MySQL structure and syntax , Types of

MySQL tables and storages engines , MySQL commands , Integration

of PHP with MySQL , Connection to the MySQL server , Working with

PHP and arrays of data , Referencing two tables , Joining two tables

UNIT IV
WORKING WITH DATA and PHP FUNCTION: FORM element, INPUT

elements, Processing the form  User Input , INPUT checkbox type ,one

form, multiple processing , Radio INPUT element

Multiple submit buttons , Basic input testing , Dynamic page title , Ma-

nipulating the string as an array ,Adding items , Validating the user in-

put. Basic PHP Function like  Variable Function, String Function, Math

Function ,  Date Function, Array Function , File Function

Unit V
WORKING WITH DATABASE AND PHP FUNCTION: Creating a table,

Manipulating the table ,Filling the table with data , Adding links to the

table , Adding data to the table , Displaying the new information , Dis-

playing table data , Editing the database , Inserting a record , Deleting a

record , Editing data,

Suggested Readings
1. Beginning PHP, Apache, MySQL Web Development  Elizabeth

Naramore, Jason Gerner , Yann Le Scouarnec, Jeremy Stolz,  Michael

K. Glass, Gary Mailer - By Wrox Publication

2. PHP, MySQL and Apache - Julie C. Melone By Pearson Education

3. Beginning PHP 5.3 by Matt Doyle - By Wrox Publication

4. PHP and MySQL Bible – Tim Converse and Joyce Park with Clark

Morgam By Wiley INDIA

6. TOURISM AND TRAVEL MANAGEMENT
Paper – I  TOURISM  MARKETING

Unit I
Introduction Tour and Tourist defined- Travel Trade-marketing orientation
marketing defined reasons. For growth of tourism travel motivater desti-
nation life cycle, tourism marketing process.

Unit II
Demand Generators- Attractions as assets-infrastructure and suprastrucre
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Vocational Subjects :
11. Computer Applications

Paper-I 3hrs. 65 
}

130 47

Paper-II 3hrs. 65

Practical 3hrs. 70 26

12. Tourism & Travel Paper-I 85

Management Internal 15

Paper-II 85

Internal 15 200 72

Note :
(i) One of the additional subject may be offered in under graduate,

Commerce Class in addition to compulsory paper and the three

core subject of commerce faculty. The marks of the additional op-

tional subject and compulsory papers shall not be counted to-

wards awarding of division.

(ii) If the candidate passes in the particular addl., subject same shall

be mentioned in marks-sheet and degree.

(iii) The candidate have to clear the General Hindi and General English

in the three chance.

(iv) Non-appearance or absence in the examination of complusory pa-

per will be counted as a chance.

(v) The candidate have to clear the complusory papers Elementary

Computer Application and Environmental Studies in 3 years

(vi) Non-Commerce students are required to clear qualifying both pa-

pers along with B.Com. Part-I.

68 / Syllabus / B.Com. Part - I_II_III

ent, Pen tool: Photoshop layers: Naming, creating, deleting, viewing,

moving, locking, merging layers, blending options.

Unit III
Multimedia: Components of multimedia, Applications, Transition from

conventional media to digital media. Usage of text in Multimedia, Digiti-

zation of sound, Sound synthesis, MIDI, Compression and transmission

of audio on Internet, Image Compression and File Formats like  GIF,

JPEG, PNG, PDF; Basic Image Processing, Use of image editing soft-

ware, Video Basics, How Video Works, Overview of Video Compression

and File Formats, Video compression based on motion compensation.

Unit IV
Introduction of CorelDraw , The CorelDraw Menus, The Draw Toolbox:

Using the Drawing Tools, Using the Zoom Tool, Using the Text Tool,

Using Pick Tool, Using node editing (Shape) Tool, Using Fill tool, Arrang-

ing Objects:, Layering,Combining and Grouping Objects, Stacking Or-

der, Aligning Objects , Type Casting: Typeface or Font,Types of Type-

face, Using and manipulate type in CorelDraw, Using Fonts in your Draw-

ing.

UNIT V
Colour & Fills: Colour Scheme, Colour Models,Using Colour in your

document,Using Colour in presentations,Using Fills , Texture and pat-

terns  Special Effects, Using Envelops, Using extrude, Using blend, Us-

ing Lenses, Using perspective, Rotating and skewing objects with trans-

form Roll-up, Stretching and mirroring , Printing Your Document, Save &

Close & open file, Export file

Suggested Readings
1. Learning Page Maker (BPB)

2. Multimedia making it work By Tay Vaughan, Tata McGraw-Hill.

3. Rajneesh Aggarwal & B. B Tiwari, “ Multimedia Systems”, Excel

Publication, New Delhi

Paper-II : Web Development & PHP MYSQL
Scheme of Examination

Maximum Marks: 75 Duration: 3 Hours
Minimum Passing Marks: 27
The question paper contains 3 sections. Section-A consists of 10 ques-

tions (2 questions from each unit of syllabus). Section-B consists of 10

questions (2 questions from each unit of syllabus). Section-C consists

of 5 questions (1 question from each unit of syllabus).

The word limit of part A, B and C are 50, 200 and 500 respectively.

Unit I
INTRODUCTION TO PHP. : History of PHP, Apache Web Server, MySQL

and Open Source

Relationship between Apache, MySQL and PHP (AMP Module)  PHP



MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU  MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU  MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU  MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU  MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU  MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU  MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU  MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

6 / Syllabus / B.Com. Part - I_II_III

1- lkekU; fgUnh
x| Hkkx

bdkbZ & 1
1- Hkkjro"kZ dh mUufr dSls gks & HkkjrsUnq gfj'pUnz
2- vkpj.k dh lH;rk &  v/;kid iw.kZflag
3- es?knwr & egkohj izlkn f}osnh
4- Hkkjrh; laLÑfr dh nsu & gtkjh izlkn f}osnh
5- fyfi dh lRrk & Hkxorh 'kj.k mik/;k;
6- fxYyw & egknsoh oekZ
7- lokyksa dh uksd ij & eksgu jkds'k
8- fuUnk jl & gfj'kadj ijlkbZ
9- usrk ugha ukxfjd pkfg, & jke/kkjh flag fnudj
10 gekjk le; vkSj foKku & xq.kkdj eqys
11- lkQ ekFks dk lekt & vuqie feJ

bdkbZ & 2
1- deZohj &  v;ks/;k flag gfjvkSa/k
2- Hkw&yksd dk xkSjo & lans'k ;gkWa eSa ugha LoxZ dk yk;k & ¼Hkkjr Hkkjrh½&

eSfFkyh'kj.k xqIr
3- chrh foHkkojh tkxjh A v#.k ;g e/kqe; ns'k gekjk & t; 'kadj izlkn
4- rksM+rh iRFkj & lw;Zdkar f=ikBh fujkyk
5- iFk dh igpku & gfjoa'k jk; cPpu
6- iszr dk c;ku & ukxktZqu
7- tc&tc eSaus mldks ns[kk A ;g /kjrh ml fdlku dh & dsnkjukFk vxzoky
8- ty jgs nhi tyrh gS tokuh ¼Hkkx 2½ rqe eukrs gks ftls dgdj fnokyh— neu

dh /ked >syh Fkh   & f’koeaxy flag lqeu
9- xhr Qjks'k &Hkokuh izlkn feJ
10- ns'k dh uLysa] ckr djks] vius & ljy fo'kkjn

bdkbZ & 3
1- la{ksi.k
2- iYyou
3- 'kCn ;qXe
4- yksdksfDr
5- 'kq)hdj.k & 'kCn ] okD;

bdkbZ & 4
1- vuqokn & vFkZ vkSj fl)kUr] egŸo] vkn'kZ] vuqokn dh fo’ks”krk,a
2- jktLFkkuh ,oa vaxzsth ls fgUnh vuqokn ¼,d vuqPNsn½
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1. Pandit,Savittri –‘Indian Embroidery’.

2. Dongerkery,Kamla.S.- ‘The Romance of Indian Embroidery.’

3. Motichandra –‘Masterpieces of Indian Textiles’.

4. Darlie O.Koshy –‘Garment Exports-Winning Strategics’.

5. Rathore,Kothari,’International Marketing’,Ramesh Book Depot,Jaipur.

6. Storcy,Joyce –‘Manual of dyes and fabrics’ ; ‘Textile Printing’,Thomas

& Hudson,London.

5. COMPUTER APPLICATION
Examination Scheme

Paper Paper Name Lec/ Totu/ Exam Max. Mini.
code (Theory) week week Hrs. Marka Pass

Marks
(36%)

Paper I DTP 3 1 3 75 27
Paper II Web

Development :
PHP & MYSQL 3 1 3 75 27

Total of Theory
(PAPER I 65 + PAPER II 65) 150 54
Paper Name (Practical)
Practical 3 3 50 18
Total of  Practical 50 18
Grand Total 200 72

Paper Code: BA/BCom/BSc Part III Paper-I
Paper I : DTP

Scheme of Examination
Maximum Marks: 75 Duration: 3 Hours
Minimum Passing Marks: 27
The question paper contains 3 sections. Section-A consists of 10 ques-

tions (2 questions from each unit of syllabus). Section-B consists of 10

questions (2 questions from each unit of syllabus). Section-C consists

of 5 questions (1 question from each unit of syllabus).

The word limit of part A, B and C are 50, 200 and 500 respectively.

Unit – I
DTP: Importance of D.T.P in Publication, Introduction to PageMaker,

Different page format/ Layouts, Tool Box, Styles, Menus, Import and

Export Facility, Alignment, Formatting, Filling in Page Maker.

Unit II
Photoshop Environment: Photoshop Interface, Photoshop toolbox and

option bar, Graphics basic: Bitmap v/s Vector Based, image resolution,

graphic file format; color mode; Photoshop tool: Parts of toolbox, Magic

wand, lassos , move tool, crop tool, pencil , eraser tools, brushes, gradi-
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bdkbZ & 5
1- fdlh ,d fo”k; ij fuca/k
2- i=&izk:i
ijh{kdksa ds fy, funsZ’k %&
1- iz'u&i= bdkb;ksa esa foHkDr gksaA
2- izR;sd bdkbZ ls funsZ'kkuqlkj O;k[;kRed ,oa vkykspukRed iz'u iwNs tk,¡A
3- iz'u&i= orZeku esa fu/kkZfjr ikB~;Øekuqlkj gksA
foLr`r vad foHkktu

bdkbZ & 1
v & pkj O;k[;k,a iwNh tk,axh] ftuesa ls nks djuh gksxhA

'kCn lhek % 150 vad % 10] 1 x 10 = 10
c & pkj vkykspukRed iz'u iwNs tk,axs] ftuesa ls nks djus gksaxsA

'kCn lhek % 250 vad % 7] 2 x 7 = 14
bdkbZ & 2

v & pkj O;k[;k,a iwNh tk,axh] ftuesa ls nks djuh gkasxhA
'kCn lhek % 150 vad % 10] 1 x 10 = 10

c & pkj vkykspukRed iz'u iwNs tk,axs] ftuesa ls nks djus gksaxsA
'kCn lhek % 250 vad % 7] 2 x 7 = 14

bdkbZ & 3
v & la{ksi.k 5
c& iYyou 4
l& 'kCn ;qXe 4
n &yksdksfDr o eqgkojs 5
;& 'kq)hdj.k ] d&'kCn 'kq)hdj.k] [k& okD; 'kq)hdj.k 4 22

bdkbZ & 4
v & vuqokn % vFkZ] fl)kUr] fof'k"Vrk vkfn ls lacaf/kr nks iz'uA

lhek  & 50 'kCn] vad 3]  2 x 03 = 06
c& jktLFkkuh ,oa vaxzsth ls fganh vuqPNsn dk vuqoknA

lhek & 300 'kCn]  vad 9 ] 1 x 09 = 09
bdkbZ & 5

v& fdlh ,d fo”k; ij fucU/kA
lhek & 350 'kCn]  vad & 10] 1 x 10 = 10

c& i=&izk:i A
lhek & 100 'kCn] vad 5]  1 x 5 = 05

lgk;d xzUFk &
1- fgUnh lkfgR; dk bfrgkl & vkpk;Z jkepUnz 'kqDy
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50 words. Section B shall contain 5 questions one from each unit with

internal choice. Each questions shall be of 4 marks. The answers should

not exceed 200 words. The candidate is required to answer all the ques-

tions. Section C shall contain 5 question of 10 marks each, one from

each unit. The candidate is required to answer 3 questions. The answer

shall not exceed 400 words.

Unit-1
International Marketing: Nature and Scope,  importance, Problems and

Challenges of International Marketing.

Unit-2
Market Entry Strategies, Licensing,/franchising, Exporting, turnkey con-

tracts, joint venture, Mergers and acquisition, Direct and Indirect export-

ing.

Unit-3
Product Planning and Development: Product Planning, Product line and

mix, Product life cycle, product mix Decisions.

Promotion of products: Advertisement, personal selling, trade fairs &

exhibitions.

Unit-4
International Pricing: Pricing Objectives, Factors Influencing Pricing,  Price

Determination, Price Quotation.

Unit-5
Export promotion assistance measures provided by T Govt. In India.

Export promotion counsil's Role of trading and export houses.

[Practical- Clothing]
     Duration- 4 hrs                                Max. Marks-80

[Sessional- 40+40- Final Practical]
Make Samples  of following traditional embroideries- Kashida ,Phulkari,,

Chamba Rumal, Chikankari, Embroidery  of  Kutch and Kathiawar.

Drafting, Cutting & Stitching of following garments-

a) For Women’s- Petticoat, Salwar-Kameez, Churidar Payjami.

b) For Men’s- Kalidar Kurta with Plain Pajama, Bengali Kurta with Aligarh

payjama, Night Suit.

Assignments-

I. Display- Designs of Tradition Textiles.

II. Collage- Current fashion Trends.

Project-costume designing with all accessories for Specific occasion

and presentation on floor.

Field trips to export houses and mass production center.

Market survey & Project Report.

Suggested Readings
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2- fgUnh lkfgR; dk bfrgkl & MkW- uxsUnz
3- fgUnh esa v'kqf+);ka & jes'k pUnz egjks=k
4- vPNh fgUnh & jkepUnz oekZ
5- fgUnh O;kdj.k & MkW- gjnso ckgjh
6- iz;kstuewyd fgUnh & izks- lw;Zizdk'k nhf{kr
7- fgUnh 'kCn ehekalk& fd'kksjh nkl oktis;h
8- O;kogkfjd fgUnh O;kdj.k & jk?ko izdk'k

2. General English
(Common for B.A./B.Com./B.Sc./B.B.A.)

A. Grammar                                                                 [10 Marks]
Determiners

Tenses and Concord

Auxiliaries

Prepositions

Basic Sentence Patterns

B. Transformations                                                       [10 Marks]
Active to Passive Voice

Simple to Compound / Complex

Declarative into Negative/ Interrogative
Direct  to Indirect Speech

C. Comprehension                                                        [50Marks]
Comprehension of an Unseen Passage[10 Marks]

Comprehension (from the following Texts): Comprehension based

Questions of 10 Marks each  will be asked from Prose, Short Stories,

One Act Play and Poetry [40 Marks]

Prose
Digital India

A.P.J. Abdul Kalam: The Power of Prayer

Martin Luther King: I have a Dream

Albert Einstein: The World as I see it

Short Stories
Leo Tolstoy: The Three Questions

Nachiketa

       One Act Play
Cedric Mount: The Never Never Nest

Poetry
R.N. Tagore : Heaven of Freedom

John Donne : Death be not Proud

Swami Vivekanand : Kali the Mother

Required Readings: Emerald (Macmillan)

D. Written Composition                                                [30 Marks]
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tions. Section C shall contain 5 question of 10 marks each, one from

each unit. The candidate is required to answer 3 questions. The answer

shall not exceed 400 words.

Unit- 1
Traditional Hand Woven Textiles of India.

Kashmir –Shawls

Bengal –Baluchar,Jamdani.

Andhra Pradesh –Pochampali.

Tamilnadu –Kanjivaram.

Assam –Moonga.

U.P –Brocade.

Study of the above textiles with emphasis on motif,texture,design and

colour.

Unit -2
Traditional Embroideries of India

Kashmir –Kashida.

Himachal –Chamba Rumal.

Manipur –Mirror Work.

Punjab –Phulkari.

Bengal –Kanthas.

U.P. –Chikankari.

Karnataka –Kasuti.

Gujrat –Kutch work and Kathiawar Embroidery.

Study of the above embroideries on motif,threads,colour,fabric,design

and theme of pattern.

Unit -3
Dyed and Printed Textiles of India - Patola, Bandhni, Ikat, Kalamkari,

Sanganeri, Bagru, Barmeri.

Civilization of costumes.

Unit -4
Study of costumes of different states- Kashmir, Bengal, Punjab, Rajasthan,

Gujrat, Andhra Pradesh, Assam, Meghalaya, Manipur, Himachal Pradesh.

Unit -5
Consumer –Definition,consumer Rights,Problems related to textiles and

Clothing.

Quality control.

Labelling-Types and its Importance.

International Marketing
Duration: 3 Hrs.      Max. Marks : 60

Note: The question paper shall contain three section. Section A

contain 5 questions two from each unit of 2 marks each. The candidate

is required to answer all the questions. The answers should not exceed
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Precis Writing [5 Marks]

Paragraph Writing [10 Marks]

Letter Writing(Formal and Informal)[5 Marks]

Report Writing[10 Marks]

Suggested Readings:

Murphy, Raymond: Intermediate English Grammar ( OUP)

Huddleton, Rodney: English Grammar: An Outline (OUP)

Greenbaum, Sidney: The Oxford English Grammar (OUP)

3. ELEMENTARY COMPUTER APPLICATIONS
Max. Marks: 100                                         Min. Passing Marks: 36

Note:
1. Passing in theory examination shall be necessary by securing at

least 36% marks.

2. The theory paper shall consist of 50 objective type question. Each

will carry 2 marks. Candidate will have to write correct answer (A) or (B)

or (C) or (D) is space provided against the question on OMR Sheet.

Introduction to Information Technology, Generation of Computers, Types

of computers: Micro, Mini, Mainframe, Super,

Architecture of Computer System: CPU, ALU Primary Memory: RAM,

ROM, Cache memory, Secondary Memories, Input/Output device,

Pointing device.

Number System (binary, octal, decimal and hexadecimal) and their

conversions, Logic gates, Languages: machine, assembly and high level

languages including 3GL, 4GL,

Concept of Operating System, need and types of operating systems:

batch, single user, multiprocessing, and time sharing, introduction to

Windows.

Internet: Concept, email services, www, web browsers, search engines,

simple programs in HTML, type of HTML document, documents

structures: element, type and character formatting, tables, frames and

forms, Stylisheet

Computer Networking: Type of networks, LAN, MAN and WAN, concept

of topology, bridges, routers, gateways, modems, ISDN leased lines,

teleconferencing and videoconferencing.

E-Commerce: Concept of e-commerce, benefits and growth of e-

commerce, e-commerce categories, e-Governance, EDI, electronic funds

transfer on EDI networks Electronic payment system.

Suggested Books:

1. Computer Fundamental By P.K. Sinha (BPB Publications)

2. Computer Made Easy For Beginners (in Hindi) By Niranjan

Bansal, Jayshri Saraogi
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iz'u i=&f}rh; % vUrjkZ"Vªh; O;kikj
bdkÃ &1

vUrjkZ"Vªh; O;kikj % vFkZ] vko”;drk ,oa egRoA vUrjkZ"Vªh; O;kikj cuke
vUr{ksZ=h; O;kikj] vUrjkZ"Vªh; O;kikj dh leL;k,aA izys[kh; lk[k vkSj bldh
izfØ;k] vUrjkZ"Vªh; Hkqxrkuksa ds midj.kA

bdkÃ &2
fo'o O;kikj laxBu % O;kikj ,oa iz”kqYd njksa ij lkekU; le>kSrk (GATT)]
m#Xos pØ] fo”o O;kikj laxBu vkSj blds mn~ns”;] dk;Z] laxBukRed <kapk] ykHk
,oa nks"k] oLrqvksa o lsokvksa esa O;kikj ij lkekU; le>kSrk (GATS)] ckSf)d lEink
O;kikj lEcU/kh vf/kdkj (TRIPs)] O;kikj lEcU/kh fuos”k mik; (TRIMs) vkSj LoRo
vf/kdkj (Patents)A fo”o O;kikj laxBu ,oa HkkjrA

bdkÃ &3
Hkqxrku 'ks"k % vo/kkj.kk] egRo] vlkE;rk ds dkj.k ,oa lek/kku ds mik;] O;kikj
'ks"k ,oa Hkqxrku 'ks"k] vadVkM] Hkkjr dk fu;kZr&vk;kr cSad] Hkkjrh; fu;kZr _.k
xkjaVh fuxe fyfeVsMA

bdkÃ &4
vUrjkZ"Vªh; O;kikj dk fu;eu % vUrjkZ"Vªh; O;kikj ds ykHk (Gains)] O;kikj
'krsZ] Lora= O;kikj cuke laj{k.k] Hkkjr dks fons”kh lgk;rk ] Hkkjr esa fons”kh
lgk;rk dh Hkkoh lEHkkouk;saA

bdkÃ &5
fons'kh fofue; %  fons”kh fofue; dk vFkZ] fons”kh fofue; njksa ds izdkj] egRo
rFkk budk fu/kkZj.kA fofue; fu;a=.k dk vFkZ] mn~ns”; ,oa i)fr;ka] Hkkjr esa fofue;
fu;a=.k] fons”kh fofue; i)fr esa Qsek (FEMA) rFkk Hkkjrh; fjtoZ cSad dh HkwfedkA

4. Garment Production and Export Mangement
(To be offered to the women candidates in Girls College only)

Scheme Duration Max. Min. Pass Period
Marks Marks Per Week

Theory Paper I 3 Hrs. 60 22 3

Theory Paper II 3 Hrs. 60 22 3

Practical 4 Hrs. 80 29 4

Note: The question paper shall contain three section. Section A

contain 5 questions two from each unit of 2 marks each. The candidate

is required to answer all the questions. The answers should not exceed

50 words. Section B shall contain 5 questions one from each unit with

internal choice. Each questions shall be of 4 marks. The answers should

not exceed 200 words. The candidate is required to answer all the ques-
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3. IT Tools and Applications By Satish Jain, Shashank Jain, Dr.

Madhulika Jain (BPB Publication).

4. Rapidex computer Course, Vikas Gupta, Pustak Mahal.

4. ENVIRONMENTAL STUDIES

Max. Marks: 100                                         Min. Passing Marks: 36

Note.
1. The marks secured in this paper shall not be counted in awarding

the division to a candidate.

2. The candidate have to clear compulsory paper in three years.

3. Non appearing or absent in the examination of compulsory paper will

be counted a chance.

The syllables and scheme of examination is as under:
Compulsory in 1st year for all streams at undergraduate level

SCHEME OF EXAMINATION
1. The paper will be of 100 marks.

2. There will be no practical/Field work, instead student should be aware

of ecology of local area; the question related to field work of local

area can be asked by paper setter.

3. There will be 100 questions in the paper of multiple choice, each

question of 1 mark.

4. There will be no negative marking in the assessment.

Core Module syllabus for Environmental Studies for Under Graduate

Courses of All Branches of Higher Education

Unit-1 : The multidisciplinary nature of environmental studies.
- Definition scope and awareness.

- Need for public awareness.

Unit-2 : Natural Resources :
- Renewable and non-renewable resources

- Natural resources and associated problems.

- Forest resources.

- Use and over-exploitation.

- Deforestation.

- Timber exploitation.

- Mining

- Dams and their effects on forests and tribal people.

- Water resources.

- Use and over utilization of surface and ground water.

- Floods

- Drought

- Conflicts over water

- Dams benefits and problems.

- Mineral resources.
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5 Ramappa P- Intellectual Property Rights Under WTO

6 ,e-Mh- vxzoky] xksiky flag] vks- ih- xqIrk & vUrjkZ"Vªh; O;kikj ,oa foÙk
vtesjk cqd dEiuh] t;iqjA

7 oS”;] flag &vUrjkZ"Vªh; vFkZ”kkL=A

3- vkfFkZd iz’kklu ,oa foÙkh; izcU/k
;kstuk %
nks iz”u i= vf/kdre vad  200 U;wure mÙkh.kkZd 72
izFke iz”u i= le; 3 ?kaVs vf/kdre vad 100
f}rh; iz”u i= le; 3 ?kaVs vf/kdre vad 100

iz'u i=&izFke % O;kolkf;d ctV ,oa ctVu
bdkÃ &1

O;kolkf;d ctV ,oa ctVu % vFkZ] izÑfr] mn~ns”;] ctV ,oa ctVu ds ykHk
o lhek,aA ctV 'kCnkoyh] ctV fuekZ.k] ctV leUo;] izHkko”kkyh ctV ds
vko”;d rRoA
Hkkjr ljdkj ds pkyw ctV dk fo”ys"k.kA jktLFkku ljdkj ds pkyw ctV dk
fo”ys"k.kA

bdkÃ &2
ctV ds izdkj % LFkk;h ,oa ifjorZu”khy ctV] ekLVj ctV] foØ; ctV]
mRiknu ykxr ctV] izR;{k lkexzh ctV] izR;{k Je ctV ,oa mifjO;; ctVA

bdkÃ &3
jksdM+ ctVu % vFkZ] egRo] jksdM+ ctV ds izdkj] jksdM+ ctV dk fuekZ.k] jksdM+
ctV dh fof/k;ka ,oa iwokZuqekuA
O;kolkf;d iwokZuqeku % vFkZ] fl)kUr] iwokZuqeku dk egRo ,oa lhek,aA O;kolkf;d
iwokZuqeku dh rduhdsa ,oa midj.k] O;kolkf;d iwokZuqeku ds vko”;d rRoA

bdkÃ &4
ctVjh fu;a=.k % vFkZ] fo”ks"krk,a] ctVjh fu;a=.k ds mn~ns”; ,oa ykHkA Hkkjr ds
fo”ks"k lanHkZ esa 'kwU; vk/kkfjr ctVu % blds fl)kUr o O;ogkjA
fu"iknu ctVu % vFkZ] izÑfr] fu"iknu ctVu dk fo”ks"kdj Hkkjrh; lanHkZ esa
egRo] fu"iknu ctVu fuekZ.k ds pj.kA izcU/kdh; izfrosnu ,oa lwpuk iz.kkyhA

bdkÃ &5
izeki ykxr ys[kkdaau % vo/kkj.kk,a] egRo ,oa lhek,a] fopj.kksa dk fo”ys"k.k]
lkexzh] Je] mifjO;; ,oa fcØhA
iwath ctVu esa tksf[ke fo'ys"k.k % tksf[ke dh ifjHkk"kk o vo/kkj.kk,a] tksf[ke
ewY;kadu n`f"Vdks.k & lkekU; rduhdsa rFkk ifjek.kkRed rduhdasA
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- Use and exploitation.

- Environmental effects of extracting and using mineral resources.

- Food resources.

- World food problems.

- Changes caused by agriculture and overgrazing.

- Effects of modern agriculture.

- Fertilizer, pesticide problems.

- Water logging.

- Salinity

Energy resources :
- Growing energy needs.

- Renewable and non-renewable energy resources.

- Use of alternate energy resources.

Land resources :
- Land as a resource.

- Land degradation.

- Man induced land slides.

- Soil erosion & desertification.

Role of an individual in conservation of natural resources. Equitable

use of natural resources for sustainable system.

Unit-3 : Ecosystem:
- Concept of an ecosystem.

- Structure and function of an ecosystem.

- Producers, consumers and decomposers.

- Energy flow in the ecosystem.

- Ecological succession.

- Food chains, food webs and ecological pyramids.

- Introduction types, characteristic features, structure and function of

the following ecosystems.

- Forest ecosystem.

- Grassland ecosystem

- Desert ecosystem.

- Aquatic ecosystems (ponds, streams, lakes, rivers, oceans

estuaries).

Unit-4 : Biodiversity and its conservation:
- Introduction, definition and diversity at genetic, species and ecosys

tem level.

- Biogeographically classification of India.

- Value of biodiversity, consumptive use productive use, social,

ethical, aesthetic and option values.

- Biodiversity at global, national & local levels.

- India as a mega-diversity nation.

- Hot-spots of biodiversity.
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Reporting to Management and Information system.
Unit-V

Standard Costing : Concepts, Significance and Limitation, Analysis of
Variance (Material, Labour , overhead and sales) .
Risk Analysis in Capital Budgeting: Risk, Definition and Concepts, Risk
Evaluation Approaches- General Techniques and Quantitative Techniques.
Books Recommended :
1 Archar: Business Fiannce, Theory & Management.
2 Batty: Corporate Planning & Budgetory Control.
3 Buranek William: Analysis for Financial Decision.
4 Dykeman-F.X.: Financial Reporting system and Techniques.
5 Harold & Seymour: The capital Budgeting Decision.
6 Hartely: W.C.F. Cash Planning, forecasting & Control.
7 Bill R.W. Cash Management Techniques.
8 Mac Alpaing T.S.: The Basic Arts of Budgeting.

9 vxzoky , fot;] lqjksfy;k% O;kolkf;d ctVu ¼jes”k cqd fMiks] t;iqj½

PAPER - II : INTERNATIONAL TRADE
Unit-I

International Trade: Meaning, Need and Importance, International Trade
v/s Inter-Regional Trade, Problems of International Trade. Documentary
Credit and its procedure, Instruments of International Payments.

Unit-II
World Trade Organisation: GATT, Uruguay Round, World Trade Orga-
nization and its Objectives, Functions, Organisational Structure, Advan-
tages and Disadvantages. GATS, TRIPs, TRIMs and Patents, WTO and
India.

Unit-III
Balance of Payments: Concept, Importance, Causes of Disequilibrium
and Measures for Correction, Balance of Trade and Balance of Pay-
ments, UNCTAD, EXIM Bank of India, ECGC of India.

Unit-IV
Regulation of International Trade: Gains from International Trade,
Terms of Trade, Free Trade v/s Protection, Foreign Aid to India, Future
Prospective of  India’s Foreign Aid.

Unit-V
Foreign Exchange: Meaning, Types, Importance and Determination of
Foreign Exchange Rate, Exchange Control: Meaning, Objectives and
Methods, Exchange Control in India, Role of FEMA and RBI in Foreign
Exchange System.
Books Recommended:
1. Barla, Agarwal - International Economics.
2 Ray, Kundu: International Economics.
3 Mathur S.K.: International Trade & Finance
4 Bare Act - The FEMA Act. 1999
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- Threats to biodiversity -  habital loss poaching of wild life, man-wild

life conflicts.

- Endangered and endemic species of India.

- Conservation of biodiversity – In situ and Ex-situ conservation of

biodiversity.

Unit-5 : Environmental Pollution :
- Definition, causes, effect and control measures of

- Air pollution.

- Water pollution

- Soil pollution.

- Marine pollution

- Noise pollution

- Thermal pollution

- Nuclear hazards.

- Solid waste management : Causes, effects and control measures of

urban industrial wastes.

- Role of an individual in prevention of pollution.

- Disaster management : Flood, earthquake, cyclone and land slides.

Unit-6 : Social issues and the environment :
- From unsustainable to sustainable development

- Urban problems related to energy.

- Water conservation, rain water harvesting, water shed management.

- Settlement and rehabilitation of people, its problem of concerns.

- Environmental ethics-issues and possible solutions. Ozone layer

depletion, nuclear accidents.

- Wasteland reclamation.

- Consumerism and waste products.

- Environmental protection Act.1986.

i. Air (prevention and control pollution) Act. 1981

ii. Water (Prevention and Control of Pollution) Act., 1974.

iii. Wild life protection Act. 1972

iv. Forest conservation Act.1980

- Issues involved in enforcement of environmental legislation.

- Public awareness.

Unit-7 : Human Population and the Environment :
- Population growth, variation among nations.

- Population explosion-Family welfare programme.

- Environment and Human health.

- Human rights.

- Value education.

- HIV/AIDS

- Women & child welfare.

- Role of information technology in environment and human health.
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3 ECONOMIC ADMINISTRATION AND FINANCIAL MANAGEMENT

Scheme Duration Max. Marks Min.Pass Marks

Two Papers 200 72

Paper I 3 hrs 100

Paper II 3 hrs 100

There shall be three (03) Sections in the Question paper.

Section A shall consist of ten questions (02 questions from each Unit),

of 02 marks each, all compulsory to be answered in around 50 words.

Section B shall consist of seven questions (at least 01 question from

each Unit) of 08 marks each, to be answered in around 200 words.  Five

questions must be answered out of given seven.

Section C shall consist of four questions (at least 01 question from

each Unit) of 20 marks each, to be answered in around 500 words.  Any

two questions must be answered out of given four.

PAPER – I  BUSINESS BUDGETING
Unit-I

Business Budgets and Budgeting: Meaning, Nature, Objectives, ad-
vantages and limitations of budgets and budgeting, Budget terminology,
Preparation of budgets, budget co-ordination. Essentials of an effective
Budgeting.
Analysis of the current budget of the Govt. of India. Analysis of the cur-
rent  budget  of the Govt. of Rajasthan.

Unit-II
Types of Budgets: Fixed and Flexible Budget, Master Budget, Sales
Budget, Production Budget, Cost of Production Budget, Direct Material
Budget, Direct Labour Budget and Overhead Budget.

Unit-III
Cash Budgeting: Meaning, Importance and Forms of Cash Budget,
Preparation of Cash Budget, Methods of Cash Budget, Forecasting.
Business Forecasting: Meaning, Theories, Importance and limitation of
business forecasting. Techniques and tools of business forecasting.
Essentials of Business Forecasting.

Unit-IV
Budgetary Control: Meaning, Characteristics, Objects and benefits of
budgetary control.
Zero-Base Budgeting: Its theory and practice with special reference to
India.
Performance Budgeting: Meaning, Nature, Importance of Performance
budgeting with special reference to India, Steps in the preparation of
Performance Budgets.
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Field Work
- Visit to a local area to document environmental assets-river/forest/

grassland/ hill/ mountain.

- Visit to local polluted site- Urban/rural/industrial/agricultural.

- Study of common plants, insects. Birds.

- Study of simple ecosystem-Pond, river, hill slope etc.

Suggested Books :

1 i;kZoj.k v/;;u & oekZ] xSuk] [k.Msyoky] jkor
2 i;kZoj.k foKku & ih-lh- f=osnh] xfjek xqIrk
3 i;kZoj.k v/;;u & lqjs’k vkesrk] f’kizk Hkkj}kt
4 Environmental studies - Pratap Singh, N.S. Rathore, A.N. Mathur

5 i;kZoj.k v/;;u & ckdjs] ckdjs ok/kok
6 i;kZoj.k v/;;u & eukst ;kno] vuwiek ;kno

4 BUSINESS STUDIES & BANKING
(FOR NON COMMERCE STUDENTS ONLY)

Scheme

Min. Pass Marks : 18 Duration : 3 Hrs. Max. Marks : 50

Unit – 1
Business- Meaning, Characeristics and importance, Forms of business

organization, Sole trader, Partnerships, Joint stock company, Co-opera-

tive, Autonomous corporation (Functions, Importance and Limitations).

Unit – II
Office departments and activities indexing and filling. Use of mode equip-

ments in office work. Office communication system.

Unit- III
Introduction to business finance “ Meaning, Functions and Scope, Goals

and objectives, evolution of  corp, Finance objectives and importance.

Unit – IV
Meaning of Bank , Types, Importance and , Functions of Commercial

Banks

Unit – V
Central Bank- RBI, Organization, Functions. SBI- History and Functions,

Importance of SBI in presents Indian Banking.

4- O;kolkf;d v/;;u ,oa vf/kdks"k.k
vf/kdre vad % 50 U;wure mRrh.kZ % 18 le; % 3 ?kaVs

bZdkbZ & 1 O;olk; vFkZ] fo'ks"krk,a ,oa egRo
O;olkf;d laxBu ds :Ik ,adkdh O;kikjh] lk>snkjh] la;qDr LdU/k ize.My] lgdkjh]
Lok;Ùk'kk’kh fuxe] dk;Z vkSj egRoA

60 / Syllabus / B.Com. Part - I_II_III

tksf[ke dk oxhZdj.k] iquchek ,oa nksgjk chekA
bdkbZ &2

thou chek ds ewy rRo &thou chek vuqcU/k] thou chek djkus dh fof/k ¼izLrko
ls chek i= rd½ thou cheki= dh 'krsZ ¼uohuhdj.k] _.k leiZ.k ukekadu ,oa
gLrkrj.k bR;kfn½ thou chek izC;kft dh x.kuk ,oa e`R;q l[;d rkfydkA

bdkbZ & 3
¼v½ thou chek dh dqN egRoiw.kZ ;kstuk,a & cUnkscLrh chek] vkthou chek] fcuk
LokLF;&ijh{kk chek] lewg chek ,oa osru cpr ;kstukA
thou chek ds vUrxZr nkoksa dk fuiVkjkA

bdkbZ & 4
lk/kkj.k chek ds izdkj %
1- vfXu chek & {ks=& i=ksa ds izdkj izC;kft fu/kkZj.k] vfXu chek i= ds ekun.M(

nkoksa ds fuiVkjs dh fof/kA
2- lkeqfnzd chek & {ks= chek & i=ksa ds izdkj xfHkZr vk'oklu lkeqfnzd chek i=

ds ekun.M] nkoksa ds fuiVkjksa dh fof/kA
3- chek ds vU; izdkj & pksjh] nq?kZVuk] Qly ,oa i'kq chekA dsoy izkjfEHkd

tkudkjh visf{krA
bdkbZ & 5

thou chek fuxe dh laxBukRed lajpuk] thou chek fuxe ds vfHkdrkZ Hkkjrh;
thou chek dk futhdj.kA

iz'u i= 2 % vkS|ksfxd lfUu;e~
bdkbZ & 1

Hkkjrh; dkj[kkuk vf/kfu;e] 1948
bdkbZ & 2

vkS|ksfxd fookn vf/kfu;e 1947
etnwjh Hkqxrku vf/kfu;e 1936

bdkbZ & 3
deZpkjh jkT; chek vf/kfu;e 1948
cksul Hkqxrku vf/kfu;e
deZpkjh izksfoMs.V Q.M

bdkbZ & 4
Jfed {kfriwfrZ vf/kfu;e~ 1923
U;wure etnwjh vf/kfu;e~ 1948
ifjokj isa'ku Q.M vf/kfu;e

bdkbZ & 5
Je la?k vf/kfu;e 1926
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bdkbZ & 2 dk;kZy; laxBu ,oa izcU/k
dk;kZy; foHkkx ,oa fØ;k,a] vuqØe.khdj.k ,oa uRFkhdj.kA dk;kZy; dk;Z esa
vk/kqfud midj.k] dk;kZy; lans’kokgu iz.kkyhA

bdkbZ & 3 O;kolkf;d foÙk dk ifjp;
vFkZ] dk;Z ,oa {ks=] y{; ,oa mn~ns';] fuxe dk fodkl] foÙk mn~ns'; ,oa egRoA

bdkbZ & 4
cSad dk vFkZ] izdkj] egRo ,oa okf.kT; cSadksa ds dk;Z

bdkbZ & 5 dsUnzh; cSad
fjtoZ cSad vkWQ bf.M;ka& laxBu ,oa dk;ZA Hkkjrh; LVsV cSad] bfrgkl] dk;Z] orZeku
Hkkjrh; vFkZO;oLFkk esa bldk egRoA

5. BOOK KEEPING
(For Non commerce Students Only)

Unit - I
Accounting as a Measurement Discipline.Income Measurement and

related accounting concepts, other Accounting concepts. Relationship

of Accounting with Economics and Statistics. Role of an Accountant in

Society.

Unit - II
Accounting process leading to preparation of Trial Balance including

rectification of errors and preparation of Final Accounts (for non corporate

entities) Bank Reconciliation Statement.

Depreciation Accounting including methods thereof. Inventory valuation.

Unit - III
Accounting for special transactions :

(a) Consignment Accounts

(b) Joint ventures Accounts

(c) Average due date and Account Current.

(d) Bills of exchange and promissory notes.

Unit - IV
Partnership Accounts. Admission Retirement and Death of partner and

Dissolution of firm.

Unite - V
Receipts and Payments account and Income and expenditure and

Balance Sheet including Accounts of Professional concerns.

Suggested Books :

1. Shukla M.C. And Grewal T.S. Advanced Accounts (S. Chand & co.)

2. Gupta R.L. and Radhaswamy M. Advanced Accountancy (Sultan

Chand & Sons)

3. Gupata B.D. Financial Accounting
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Paper-II Industrial Law
Unit-I

The Factories Act, 1948

Unit-II
The Industrial Disputes Act, 1947

The Payment of Wages Act, 1936

Unit-III
Employees state Insurance Act, 1926

The Payment of Bonus Act

The Employees provident funds and

Unit-IV
The workmen’s compensation Act, 1923

The minimum wages Act

Family pension fund Act.

Unit-V
The Indian Trade Union Act, 1926

Payment of gratuity Act, 1972

Books Recommended:
· Labour and Industrial Laws, by Padhi, Publisher-Prentice-Hall of

India, New Delhi, ISBN-978-81-203-2985-0

· Industrial Law - Chawala R.C. Garge K.C.

· Elements of Industrial Law - Kapoor N.D.

· Industrial Relation and Labour Laws - Srivastava S.C.

· Labour Administration in India - Sarina A.M.

· Labour Laws – Inderjeet

· Industrial Laws and Labour Laws - O.P. Gupta

· Industrial Law -  Vyas, Sowani & Mishra, RBD

· vkS|ksfxd lfUu;e & ukSy[kk] vkj-ch-Mh-
· vkS|ksfxd fof/k & 'kekZ] vtesjk cqd daiuh] t;iqj

2- O;kolkf;d izcU/k
;kstuk
nks iz'u i= U;wure mÙkh.kkZda 72 vf/kdre vad 200
izFke iz'u i= le; 3 ?k.Vs vf/kdre vad 100
f}rh; iz'u i= le; 3 ?k.Vs vf/kdre vad 100

iz'u i= & 1 chek
bdkbZ & 1

chek dk vFkZ] dk;Z] izdkj izknqHkkZo ,oa fodklA Hkkjrh; vFkZO;oLFkk esa chek dh
HkwfedkA chek ds vk/kkjHkwr fl)karA chek ,d tksf[ke fu;U=.k ;qfDr ds :i esa ,oa
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4. Grewal T.S. Elements of Accounts (S. Chand & co.)

5. Jain, Khandelwal, Pareek – Book Keeping

6. Sharma, Bhardwaj, Biyani- Book keeping & Accountancy (Ramesh

Book Depot)

7. P.C. Tulsian : Financial Accounting (Tata Mc Graw Hill Publi.co.)

cgh[kkrkcgh[kkrkcgh[kkrkcgh[kkrkcgh[kkrk
bdkbZ&1bdkbZ&1bdkbZ&1bdkbZ&1bdkbZ&1

ys[kakdu % ,d ekiu vuq'kklu] vk;ekiu vkSj mlls lEcfU/kr ys[kkadu vo/kkj.kk,a
vU; ys[kkdu vo/kkj.kk,a] ys[kkadu dk vFkZ'kkL= o lkaf[;dh ls lEcU/kA lekt esa
,d ys[kkiky dh HkwfedkA

bdkbZ&2bdkbZ&2bdkbZ&2bdkbZ&2bdkbZ&2
ryiV dks cukus rd dh ys[kkadu izfof/k] v'kqf);ksa ds lq/kkj] vfUre [kkrksa ds fuekZ.k
¼xSj dEiuh laLFkkvksa ds fy,½] cSad lek/kku fooj.kA gkzl ys[kkadu o mldh fof/k;k¡A
LdU/k ewY;kaduA

bdkbZ&3bdkbZ&3bdkbZ&3bdkbZ&3bdkbZ&3
fof'k"V ysu&nsuksa dk ys[kkadu
¼v½ izs"k.k ¼c½ la;qDr lkgl
¼l½ vkSlr Hkqxrku frfFk vkSj pkyw [kkrk ¼n½ fofu;e foi= o izfrKk i=

bdkbZ&4bdkbZ&4bdkbZ&4bdkbZ&4bdkbZ&4
lk>snkjh [kkrs&lk>snkj dk izos'k] lsokfuo`fÙk ,oa e`R;q]lk>snkjh dk fo?kVuA

bdkbZ&5bdkbZ&5bdkbZ&5bdkbZ&5bdkbZ&5
izkfIr ,oa Hkqxrku [kkrk] vk; O;; [kkrk vkSj fpV~Bk] is'ksoj laLFkkvksa ds [kkrksa lfgrA

6. ACCOUNTANCY & BUSINESS STATISTICS
There shall be three (03) Sections in the Question paper.

Section A shall consist of ten questions (02 questions from each Unit),

of 02 marks each, all compulsory to be answered in around 50 words.

Section B shall consist of seven questions (at least 01 question from

each Unit) of 08 marks each, to be answered in around 200 words.  Five

questions must be answered out of given seven.

Section C shall consist of four questions (at least 01 question from

each Unit) of 20 marks each, to be answered in around 500 words.  Any

two questions must be answered out of given four.

PAPER - I: FINANCIAL ACCOUNTING
Unit- I

History and development of Accounting in India since Kautilya. Generally

Accepted Accounting Principles, Conventions and Concepts. General
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Paper-I Insurance
Unit-I

Meaning, function types, origin and development of Insurance; Role of

Insurance in the Indian Economy. Basic principles of Insurance. Insur-

ance as a risk control device and risks classification; re-insurance and

double Insurance.

Unit-II
Basic elements of Life Insurance: Life Insurance contract. Procedure of

Life Insurance (from proposal to policy, life policy conditions, renewals,

loans, surrendering, nomination and transfer etc.). Life Insurance pre-

mium calculation and mortality tables.

Unit-III
Some important plans of assurance – Endowment, whole Life non-medi-

cal policies, group insurance and salary saving scheme.

Settlement of claims under assurance.

Unit-IV
Type of general Insurance:

(i) Fire Insurance: Scope, types of policies, Premium fixation, standard

fire insurance policy, claims settlement procedure.

(ii) Marine Insurance-Scope, Types of policies implied warranties, Stan-

dard Marine Policy, Claim Settlement Procedure.

(iii) Other kinds of Insurance; Burglary, accident Crop & live stock insur-

ance. (only elementary knowledge is required)

Unit-V
Organisational structure of L.I.C., L.I.C. Agents.

Privatisation of Life insurance in india.

Books Recommended:
· A.N. Agrawala - Insurance in India.

· W.A. Dinsdal & D.C. MC Muride - Elements of Insurance

· Anil Kothari & Joshi Jain: - Fundamental of Insurance

· R.S. Sharma - Insurance - Principle of

Practice.

· vkj-lh- vxzoky ,oa ,u-,l dksBkjh & chek
· egkuk;.k feJk & chek fl)kUr ,oa O;ogkj
- ch-,y- iksjoky & chek
- MkW- vkj- ds ctkt & chek ds rRo
- MkW- vkj- ,y ukSy[kk & chek ds rRo
- izks- th- ,l- lq/kk & chek
- ts-ih- fla?ky & chek
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introduction of Accounting Standards. Insurance Claims, Voyage

Accounts.

Unit - II
Issue of Shares, forfeiture and re-issue of forfeited shares. Buyback of

shares, D-mat of Shares, Employees Stock Option Scheme and Guide

Lines of SEBI, issue of debentures and their redemption.

Unit - III
Insolvency Accounts, Royalty Accounts

Unit - IV
Sectional balancing and Self balancing ledgers, Accounting for

investments and    excluding stock market transactions,

Unit - V
Departmental accounts and Branch accounts (including foreign

branches), Introduction of Tally ERP.9.

Suggested Books :
1. Jangid, Suthar, Agrawal, Mathur,Saxena, Khatri,Mujral- Financial

Accounting ¼foÙkh; ys[kkadu½ (Remesh Book Depot- Jaipur)

2. Jain, Khendelwal, Pareek, S.S. Maheshwari, Modi, Dave : Financial

Accounting (Ajmera Book Co.)

3. Shukla M.C. And Grewal T.S. Advanced Accounts (S. CHand & co.)

4. Agarwal B.D. Company Accounts (Pitamber Publishing House,

Delhi)

5. jko ,u-,l-] gsM+k ,e- Mh-] xqIrk ,l-,y-&foÙkh; ys[kkadu ¼vYdkifCyds'ku½
6. Chakraborty, H. Advanced Accountancy (Oxford University Press,

New Delhi)

7. Jain &Narang – Advanced Accounting (KalyaniPublicaton, Delhi)

8. Sehgal&Sehgal – Advanced Accounting (Taxman)

9. P.C. Tulsian : Financial Accounting (Tata McGraw Hill Publishing

co.)

Paper –II : BUSINESS STATISTICS
Unit -  I

Meaning and definition of Statistics. Functions, importance. Limitations

and Distrust of Statistics. Statistical investigation- Meaning, types and

various stages of statistical investigation. Objectives & Methods of

sampling Essentials of Sampling, Sampling and Non sampling error.

Size of sample. Collection, editing, classification and tabulation of data.

Methods of collection of primary and secondary data. Schedule &

questionnaire. Editing of data. Meaning & definitions of classification,

characteristics of classification,objectives and types of classification,

statistical series.
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4. Chouhan, Shakdweepi : Taxation and Auditing, Himanshu
Publication, New Delhi & Udaipur

5. Patel, Choudhary : Goods & Service Tax and Auditing, PC
Publications, Jaipur

ys[kkdeZ ,oa O;kolkf;d lkaf[;dh
Ikz'u i= 1 uSxe ys[kkadu

uksV % izR;sd iz'u i= esa nl iz'u gkasxs&ikap bdkb;ksa esa ls izR;sd ls nks&nksA
Nk= dks izR;sd bdkbZ esa ls ,d iz'u dk p;u djrs gq, dqy ikap iz'uksa ds
mÙkj nsus gksxasA

bdkbZ&1
vkUrfjd iqufuZekZ.k ds fy, ys[kkadu] Hkkjrh; ys[kkadu ekud 14 ds vuqlkj
dEifu;ksa dk ,dhdj.k] ¼dEifu;ksa }kjk vkilh va'k j[kuk lfgr½

bdkbZ&2
[;kfr dk ewY;kadu ,oa va'kksa dk ewY;kadu

bdkbZ&3
dEiuh ds vafre [kkrs ¼izcU/kdh; ikfjJfed x.kuk dks 'kkfey djrs gq,½ ykHkksa dk
caVokjk ¼ykHkksa ds iwathdj.k dks 'kkfey djrs gq,½] va'kks o _.ki=ksa dk vfHkxksiuA

bdkbZ&4
O;kikj Ø;] lekesyu ls iwoZ RkFkk i'pkr ds ykHk lfgr] dEifu;ksa dk lekiuA

bdkbZ&5
Hkkjr esa lq=/kkjh o] lgk;d dEiuh ds [kkrsA ,dhd`r fpV~Bk o ykHk&gkfu [kkrkA
f}[kkrk i)fr ¼fctyh vkiwfrZ dEifu;ksa ds [kkrksa dks NksM+dj½

2. BUSINESS  MANAGEMENT
Scheme of Examination

Min. Pass Marks - 72  Duration - 3 Hrs. Max. Marks – 200

Paper – I and Paper - II (100 + 100 = 200)
There shall be three (03) Sections in the Question paper.

Section A shall consist of ten questions (02 questions from each Unit),

of 02 marks each, all compulsory to be answered in around 50 words.

Section B shall consist of seven questions (at least 01 question from

each Unit) of 08 marks each, to be answered in around 200 words.  Five

questions must be answered out of given seven.

Section C shall consist of four questions (at least 01 question from

each Unit) of 20 marks each, to be answered in around 500 words.  Any

two questions must be answered out of given four.
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Unit - II
Meaning and definition of Tabulation- objectives, importance & limitations

of tabulation, difference between classification & tabulation, essentials

of a good table. Kinds of table. Measures of central tendency, meaning

and definition of central tendency, utility & importance, determination of

statistical averages, essential properties of an ideal average. Types of

statistical averages. Arithmetic Mean (Simple and Weighted), Median

(including Quartiles, Deciles and Percentiles), Mode, Geometric Mean,

Harmonic Mean (Simple & Weighted), Death Rates. Choice of suitable

average, limitations of averages.

Unit -  III
Measures of Dispersion & Skewness : Meaning & definition of Dispersion-

Objectives and importance of measuring dispersion, absolute & relative

measures of dispersion, essential characteristics of a good measure of

dispersion, inter-relationship between different measures of dispersion,

Lorenz curve, Selection of an appropriate measure of dispersion.

Skewness, Meaning, Test of Skewness, Measures of Skewnees, Methods

of measuring Skewness, difference between dispersion and Skewness.

Unit -  IV
Correlation and Regression : Meaning & definition of Correlation- types

of correlation, methods of determining correlation, measurement of

correlation in time series, lag and lead in correlation. Regression analysis

: concept, meaning, Utility, types, difference between correlation &

regression, linear correlation & regression analysis, standard error of

estimates, methods of computing regression lines, conceptual framework

& their application in business.

Unit - V
Index Number: concept, utility, methods, simple and weighted average

of relatives and aggregative index numbers. Analysis of Time Series:

theories of time series, decomposition of time series, analysis of trend

(excluding seasonal variations), application of time series in business.

Suggested Books :

1. vksloky] tkafxM+] vxzoky] lqFkkj] xxZ&O;kolkf;d lkaf[;dh] jes'k cqd
fMiks] t;iqjA

2. Gupta S.R. – Statistical methods (Sultan Chand & Sons, New

Delhi)

3. Gupta S.N. Statistical methods (Sahitya Bhawan, Agra)

4. Gupta S.C. – Statistical Methods.

5. Ukkxj ds ,u- % lkf[;dh ds ewy rRo ¼ehuk{kh izdk'ku] esjB½
6. xks;y ds-lh-] jaxk vkj-ds-] xqIrk ch-,y-] xks;y vkj-ds- &lkaf[;dh; fof/k;ka

vtesjk cqd dEiuh] t;iqjA
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1. uSxe ys[kkadu&tkafxM] vxzoky] lqFkkj] ekFkqj] lDlSuk] eqtjky
¼jes'k cqdfMiks] t;iqj½

2. uSxe ys[kkadu& tSu][k.Msyoky]ikjhd] caly ¼vtesjk cqd dEiuh] t;iqj½
3. Advanced Accountancy – R.L. Gupta

4. Advanced Accountancy – S.N. Maheshwari

5. Advanced Accountancy – Shukla Grewal

6. Advanced Accountancy – S.K. Chakraborty

7. Advanced Accountancy – P.V. Ratnam

8. Advanced Accountancy – Jain, Narang.
9. Advanced Accountancy – Tulsian P.C. (Tata MC Graw Hill Pub.Co.)

PAPER – II : TAXATION AND AUDITING
Note : In this question paper 10 questions will be set. 2 questions form
each unit. Candidates are required to attempt five questions in all
selecting one question from each unit.

Unit - I
CGST/SGST: Important term and definitions under central goods and
service Tax Act, 2017 and state goods and service Tax Act, 2017. Basic
of GST, meaning and scope of supply, levy and collection of tax.

Unit - II
CGST/SGST: Time and value of supply of goods and /or service. Input
Tax credit, transitional provisions. Registration under CGST/SGST Act,
filling of returns and assessment, payment of tax including payment of
tax on reverse charge basis. Refund under the Act.

Unit - III
CGST/SGST: Maintenance of Account and Records. Composition
Scheme, Job work and its procedure, Various Exemptions under GST,
Demand and recovery under GST, Miscellaneous provisions under GST.

Unit - IV
IGST: Scope of integrated goods and service tax (IGST), important term
and definitions under IGST Act, 2017, levy and collection of IGST,
principles for determining the place of supply of goods and services
zero rated supply.

Unit – V
Auditing : Meaning and objectives of auditing, importance and limitations
of auditing. Internal control, vouching, verification of assets and liabilities,
company audit.
Suggested Books:
1. Datey V. S. : GST Ready Reckoner, Taxman Publication, New

Delhi.
2. Goel Pankaj : GST Ready Reckoner, Reference (2017)

Commercial Law Publisher(India) Pvt. Ltd.
3. Shah, Mangal, Jain, Khandelwal, Pareek : Goods and Service

Tax(Including Auditing) , RBD Publishing House, Jaipur
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ys[kkdeZ ,oa O;kolkf;d lkaf[;dh
iz'u i= 1 % foÙkh; ys[kkadu

bdkbZ&1
Hkkjr esa ys[kkadu dk bfrgkl ,ao fodkl&dksfVY; lsA loZekU; LohÑr ys[kkadu
fl)kUr] ijEijk o vo/kkj.kk,aA ys[kkadu ekudksa dk lkekU; ifjp;] cheknkok
lECkU/kh [kkrs] tgkth ;k=k ys[ksA

bdkbZ&2
va'kks dk fuxZeu] v'kksa dks tCr djuk ,oa tCr v'kksa dk iqufuxZeu] v'kksa dh iqu%
[kjhn] va'kksa dk Mh&eSV] deZpkjh LdU/k fodYi ;kstuk] lschdsfn'kk funZs'k] _.k i=ksa
dk fuxZeu ,oa 'kks/kuA

bdkbZ&3
fnokfy;k lEca/kh [kkrs] vf/kdkj&'kqYd [kkrsA

bdkbZ&4
oxhZ; larqyu ,oa Lodh; larqyu [kkrkcfg;ka] fofu;ksx [kkrs¼LVkWd ,DlpsUt ysu
nsu dks NksM+dj½

bdkbZ&5
foHkkxh; [kkrs o ‘kk[kk [kkrs ¼fons'kh 'kk[kklfgr½ ifjp; Vsyh bZvkjih-9A

iz'u i= 2 %O;kolkf;d lakf[;dh
bdkbZ&1

lkaf[;dh dk vFkZ ,o ifjHkk"kk] dk;Z] egRo ,oa lhek,a rFkk lakf[;dh ds izfr vfo'okl
lkaf[;dh; vuqla/kku&vFkZ] lkaf[;dh; vuqla/kku ds izdkj o fofHkUu pj.k] izfr p;u
ds mís'; rFkk jhfr;ak] izfrp;u ds vko';d rRo] izfrp;u o vizfrp;u foHkze]
U;kn'kZ dk vkdkjA laedksa ds laxzg.k] lEiknu] oxhZdj.k o lkj.kh;u] izkFkfed o
f)rh; laedksa ds lxzg.k dh jhfr;ka] vuqlwph o iz'ukoyh] laedksa dk lEiknu]
oxhZdj.k dk vFkZ ,oa ifjHkk"kk] oxhZdj.k dh fo'ks"krk,a] oxhZdj.k ds mís'; o izdkj]
lkaf[;dh; Jsf.k;kaA

bdkbZ&2
lkj.kh;u dk vFkZ ,oa ifjHkk"kk] mís';] lkj.kh;u dk egRo ,oa lhek,aA oxhZdj.k o
lkj.kh;u esa vUrjA vkn'kZ lkj.kh ds vko';d rRoA lkj.kh ds izdkj A
dsUnzh; izo`fr dk eki&dsUnzh; izo`fr dk vFkZ ,oa ifjHkk"kk] mi;ksfxrk ,oa egRo
lkaf[;dh; ek/;ksa dh x.kuk] ,oa vkn'kZ ek/; dh vko';d fo'ks"krk,aA lkaf[;dh ek/;ksa
ds izdkj&lekUrj ek/; ¼ljy ,oaHkkfjr½] ek/; ¼prqFkZd] n'ked o 'kred lfgr½
cgqyd] xq.kksÙkjek/;] gjkRedek/; ¼ljy ,oa Hkkfjr½ e‘R;q njsa] mi;qDr ek/; dk
pquko] lkf[;dh; ek/;ksa dh lhek,aA
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Note :

(i) One of the additional subject may be offered in under graduate,

Commerce Class in addition to compulsory paper of Hindi/English and

the three core subject of commerce faculty. The marks of the additional

optional subject and combined paper shall not be counted towards

awarding of division.

(ii) If the candidate passes in the particular addl., subject same shall be

mentioned in marks-sheet and degree.

(iii) The candidate have to clear the combined paper in the three chance.

(iv) Non-appearance or absence in the examination of combined paper

will be counted as a chance.

1. ACCOUNTANCY AND BUSINESS STATISTICS
There shall be three (03) Sections in the Question paper.

Section A shall consist of ten questions (02 questions from each Unit),

of 02 marks each, all compulsory to be answered in around 50 words.

Section B shall consist of seven questions (at least 01 question from

each Unit) of 08 marks each, to be answered in around 200 words.  Five

questions must be answered out of given seven.

Section C shall consist of four questions (at least 01 question from

each Unit) of 20 marks each, to be answered in around 500 words.  Any

two questions must be answered out of given four.

PAPER -I : CORPORATE ACCOUNTING
Note : In this question paper 10 questions will be set. 2 questions from

each unit. Candidates are required to attempt five questions in all

selecting one question from each unit.

Unit - I
Accounting for internal Reconstruction. Accounting for Amalgamation of

Companies as per Indian Accounting Standard 14 (including inter-

company holding).

Unit - II
Valuation of Goodwill. Valuation of Shares.

Unit - III
Final Accounts of companies (including computation of Managerial

Remuneration). Disposal of Profits (including Capitalization of Profit).

Underwriting of shares and debentures.

Unit -  IV
Acquisition of business including profit prior to incorporation and post

incorporation. Liquidation of companies.

Unit - V
Accounting of Holding and Subsidiary Companies in India. Consolidated

Balance Sheet and Profit & Loss Account. Double Account System

(Excluding Accounts of Electricity Supply Companies.)

Suggested Books:
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bdkbZ&3
vifdj.k rFkk fo"kerk dk eki&vifdj.k dk vFkZ o ifjHkk"kk] vifdj.k ekiu dk
mís';] egROkA vifdj.k ds fujis{k o lkis{k ekiA ,d vPNs vifdj.k eki dh eq[;
fo'ks"krk,a] vifdj.k ds fofHkUu ekiksa esa vUrlZECkU/k] ykjsUt oØ mfpr vifdj.keki
dk pqukoA fo"kerk&vFkZ] fo"kerk dk ijh{k.k] fo"kerk dk eki] fo"kerk ekiu ds
rjhds] vifdj.k o fo"kerk esa vUrjA

bdkbZ&4
lg lEcU/k o izrhixeu&lglEcU/k dk vFkZ o ifjHkk"kk] lglEcU/k ds izdkj
lglEcU/k fu/kkZj.k ds rjhds] dky Js.kh esa lglEcU/k dk ekiu] lglEcU/k esa
foyEcuk o vxzxeuA izrhixeu fo'ys"k.k% vo/kkj.kk] vFkZ] mi;ksfxrk rFkk izdkj]
izrhixeu o lglEcU/k esa vUrj] js[kh; lglEcU/k rFkk izrhixeu fo'ys"k.k] vuqeku
dh izeki =qfV] izrhixeu js[kkvksa ds ifjdyu dh fof/k;ka] ladYiukRed :ijs[kk vkSj
O;olk; esa mldk mi;ksxA

bdkbZ&5
lwpdkad&vo/kkj.kk] mi;ksfxrk] jhfr;k¡A ewY;kadu o lewgh lwpdkadks dk ljy o
Hkkfjrek/;A dkyJs.kh dk fo'ys"k.k&dkyJs.kh ds fl)kUr] dkyJs.kh ds la?kVd]
izo`fÙk dk fo'ys"k.k ¼ekSleh fopj.kksa dks NksM+dj½ dkyJs.kh dk O;olk; esa mi;ksxA

7. BUSINESS MANAGEMENT
Scheme of Examination
Min. Pass Marks - 72  Duration - 3 Hrs. Max. Marks – 200

Paper – I and Paper - II (100 + 100 = 200)
There shall be three (03) Sections in the Question paper.

Section A shall consist of ten questions (02 questions from each Unit),

of 02 marks each, all compulsory to be answered in around 50 words.

Section B shall consist of seven questions (at least 01 question from

each Unit) of 08 marks each, to be answered in around 200 words.  Five

questions must be answered out of given seven.

Section C shall consist of four questions (at least 01 question from

each Unit) of 20 marks each, to be answered in around 500 words.  Any

two questions must be answered out of given four.

Paper- I   Principles of Business Management
Unit - I

Introduction: Meaning, Nature, Principles & Importance of Management,

Schools of Management Thought.

Unit - II
Coordination: Meaning, Need and Techniques.
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SCHEME  OF  EXAMINATION
There shall be three (03) Sections in the Question paper.

Section A shall consist of ten questions (02 questions from each Unit),

of 02 marks each, all compulsory to be answered in around 50 words.

Section B shall consist of seven questions (at least 01 question from

each Unit) of 08 marks each, to be answered in around 200 words.  Five

questions must be answered out of given seven.

Section C shall consist of four questions (at least 01 question from

each Unit) of 20 marks each, to be answered in around 500 words.  Any

two questions must be answered out of given four.

DISTRIBUTION OF MARKS

S.N. Name of the Papers Duration Max. Min. Pass
Subject/Papers Marks Marks

Core Subjects :

1. Accountancy and business statistics

Paper I 3hrs. 100 } 200 72
Paper II 3hrs. 100

2. Business Management

Paper I 3hrs. 100 } 200 72
Paper II 3hrs. 100

3. Banking & Financial Management

Paper I 3hrs. 100 } 200 72
Paper II 3hrs. 100

Additional Optional Subject :-

4. Garment Production and

export Management Paper-I 3hrs. 60 } 120 44
Paper-II 3hrs. 60

Practical 2  4hrs. each 80 28

Vocational Subjects :

5. Computer Applications

Paper-I 3hrs. 65 } 130 46

Paper-II 3hrs. 65

Practical 3hrs. 70 26

6. Tourism & Travel Paper-I 3 hrs. 60

Management Internal 15 200 72

Paper-II 3 hrs. 60  }
Internal 15

          Project Report & Viva-Voice 50
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Planning: Meaning, Importance, Types and Process. Decision and deci-

sion making process.

Unit - III
Organization: Meaning, Importance, Types, structure of organization.

Forms of organization and span of control. Elementary knowledge of

organizational behaviour. Decentralization and Delegation of Authority.

Unit - IV
Directing: Meaning, Importance and Techniques with special emphasis

on communication, Controlling. Meaning. Importance Techniques and

process.

Unit - V
Leadership - Meaning, Kind, Style, Merits of a successful leader.

Motivation - Meaning, Importance, Approaches.

Management by Change.

Elementary Knowledge of Stress and Stress Management.

Books Recommended:

· lsu] tSu] xqIrk & O;kolkf;d laxBu
· Mathur, B. S. : Principles of Management

· Agarwal R. D. : Organisation and Management

· Tripathi & Reddy : Management

· jktiqjksfgr] xqIrk] izca/k] vtesjk cqd dEiuh] t;iqj
· Chatterji S. S. : Management

· Newman and Summer : Process of Management

· Rajpurohit, Gupta:  Management

· Koont’z and O’Donnell : Management

- MkW vkj- ,y- ukSy[kk&izcU/k ds fl)kUr
- th- ,l- lq/kk & izcU/k
- vxzoky vkj- lh- lkfgR; Hkou] vkxjk & O;olk; izcU/k ds fl)kUr

PAPER - II:  BUSINESS LAWS
Unit - I

Law of Contract (1872):  Nature of Contract, Classification, Offer and

Acceptance, Capacity of Parties to Contract, Free Consent, Consider-

ation, Legality of Object.

Unit - II
Performance of contract, Discharge of contract, Remedies for breach of

contract. Agreement Declared Void.

Unit - III
Special Contracts: Indemnity, Guarantee, Bailment and Pledge, Agency

Unit - IV
LLP Act, 2008 and Sale of Goods Act, 1930

Unit - V
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Unit III
Travel agent : Role and function in tourism industry.

Tour operator : Kinds and role

Guide and Escord : Duties and responsibilities, training package tours.

Unit IV
Fares : Definition, type, details

Iata Air Ticketing (Old style manually issued ticket)

Unit V
ABC-Introduction and handling

Some important circuits

Suggested Books :

Jugmohan Negi : Travel Agency and Tour Operation.

P.C. Sinha : Tourism Transport and Travel Management

Valenu L. Smith : Hosts and Guest, Philadelphia, 1990

Bani Kant Kakati : The Mother Goddess Knamakhya Guwahati

Paper II : HOSPITALITY MANAGEMENT
Unit I

Principles of Grading Hotel-Star, categorization-Function of classifica-

tion committee.

Rule and Regulation.

Laying of House keeping department, duties of principal staff.

Unit II
Rules of guest floor-Majds Cart-Bed making room maintenance proce-

dure.

Procedure for requesting fresh Iinen-Guest supplies

Records kept in floor linen room.

Par stock lost and fund procedure, cleaning methods, agents.

Wake call procedure seanty baggage procedure.

Unit III
Left luggage procedure.

Keys and keys control types of keys

Room maintenance, lobby and lounge maintenance.

Inspection of checked out rooms.

Unit IV
Case study, guest fall ill, death in hotel, fire in hotel,

Unit V
vandalism, cuisines: type of cuisine, catering - meaning, classification

services types of services layout of table cover, menu, types, planning,

control systems in catering, area methods of cooking, organization of

restaurant, duties and responsibilities of principal staff of catering.

Recommended Books :

Hotel and Restaurant Guide India, New Delhi, 1997

F & B Service, Sudhir Andrews, TmW.



MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU  MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU  MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU  MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU  MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU  MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU  MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU  MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU MGSU

 Syllabus / B.Com. Part - I_II_III / 21

Consumer Protection Act 1986, Information Technology Act, 2000

Books Recommended:
· Shukla & Narayan  :  Vyaparik Sanniyam

· Mathur & Saxena  :  Vyaparik Sanniyam

· Sudha G. S.  :  Vyaparik Sanniyam

· Shukla M. C.  :  Mercantile Law

· N. D. Kapoor  :  Mercantile Law

- MkW- vkj- ,y- uksy[kk % O;kikfjd lfUu;e
- vk;Z] 'kekZ & O;kikfjd fof/k] vtesj cqd dEiuh] t;iqj
- vxzoky] dksBkjh % O;kikfjd lfUu;e
· O.P. Gupta : Business Regulatory Framework, Sahitya Bhawan,

Agra

· Arya, Gupta: Business Law, Ajmera Book Company, Jaipur

O;kolkf;d izcU/k ds fl)kUr
;kstuk % nks iz'u i= U;wure mÙkh.kkZad 72 vf/kdre vad 200
izFke iz'u i= le; 3 ?kaVs vf/kdre vad 100
f}rh; iz'u i= le; 3 ?kaVs vf/kdre vad 100

iz'u i= 1 % izcU/k ds fl)kUr
bdkbZ&1

ifjp; % izcU/k dk vFkZ] izÑfr] fl)kUr ,oa egRo A
izcU/k % izcU/k fpUruihB fo|ky; A

bdkbZ&2
leUo; % vFkZ] vko';drk ,oa rduhdA
fu;kstu % vFkZ] egRo] izdkj] izfØ;k] fu.kZ; ,oa fu.kZ;u&izfØ;kA

bdkbZ&3
laxBu % laxBu dk vFkZ] egRo] izdkj] lajpuk A

laxBu ds izk:i ,oa fu;U=.k dk foLrkj A
fodsUnzhdj.k ,oa vf/kdkj lÙkk dk izR;k;kstu A

bdkbZ&4
funsZ'ku % vFkZ] egRo ,oa rduhd] lEizs"k.k ij fo'ks"k /;ku] lfgr A
fu;U=.k % vFkZ] egRo] rduhd ,oa izfØ;k A

bdkbZ&5
usr`Ro % vFkZ] izdkj] 'kSyh ,oa lQy usrk ds xq.k A
vfHkizsj.k % vFkZ] egRo ,oa fopkj/kkjk,a A ifjorZu }kjk izcU/kA
izfrcy vkSj mldk izca/kA

iz'u i= & 2  O;kikfjd fof/k
bdkbZ & 1
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internet terms ( Client, Server, MODEM, Web page, Web site, Home
page, Browser, URL, ISP, Web server, Download & Upload, Online &
Offline etc), Internet applications (Remote login, VoIP, Video Conferencing,
Audio-Video streaming, Chatting etc). Identify and solve basic problems
related to connecting to networks and the Internet. E-Mail, Advantages,
How it’s Works? Anatomy of an e-mail Message, basic of sending and
receiving, E-mail Protocol.

Unit III
Introduction to World Wide Web: History, Working of Web Browsers, Its
functions, Search engine category, Concept of Hyper Text Transfer Pro-
tocol (HTTP), Web Servers,  Internet Explorer, Web publishing Docu-
ment Interchange Standard, Component of Web Publishing,  Site and
Domain Name, Overview of Intranet and its applications.

Unit  IV
HTML, Designed Tools, HTML Editors, Issue in Web Site Creations and
Maintenance, FTP S/W for Upload Website, Elements of HTML & Syn-
tax, Building HTML Documents, Use of Font Size and Attributes, Back-
grounds, Formatting tags, Images, Hyperlinks, div tag, List Type and its
Tags, Table Layout, , Use of Frames and Forms in Web Pages. Working
with Style sheet: Elements and different Type of style sheet; Introduction
to Java Script: Identifier & operator, control structure, functions, Pre-
defined functions, numbers & string functions, Array in Java scripts.

Unit V
Basic of Cyber Security and Cyber Crime: Computer Ethics and Applica-
tion Programs, Cyber Law, Introduction to IT laws & Cyber Crimes –
Internet, Hacking, Cracking, Viruses, Virus Attacks, Software Piracy,
Intellectual property, Legal System of Information Technology, Social
Engineering, Mail Bombs, Bug Exploits
Suggested Readings
1. Internet  and Web Page Designing  By V.K Jain (BPB)
2. Internet & Web Design By A. Mansoor, Pragya Publications.
3. Web Enabled Commercial Application Development Using  HTML,

DHTML , java script, Perl CGI By Ivan Bayross (BPB)
4. Cyber Security by Nina Godbole & Sunit Belapure
5. Computer Forensics by Marie- Helen Maras

6. TOURISM AND TRAVEL MANAGEMENT
PAPER – I TRAVEL AGENCY MANAGEMENT

                     Unit I
Travel Agency and Introduction

Travel Agency : Brief history and present scenario

Unit II
Functions of travel agency, Department of Travel agency

Working of a travel agency

Travel terminology
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8. ECONOMIC ADMINISTRATION AND FINANCIAL MANAGEMENT

Scheme Duration         Max. Marks Min.Pass Marks
Two Papers 200 72

Paper I 3 hrs 100

Paper II 3 hrs 100

There shall be three (03) Sections in the Question paper.

Section A shall consist of ten questions (02 questions from each Unit),

of 02 marks each, all compulsory to be answered in around 50 words.

Section B shall consist of seven questions (at least 01 question from

each Unit) of 08 marks each, to be answered in around 200 words.  Five

questions must be answered out of given seven.

Section C shall consist of four questions (at least 01 question from

each Unit) of 20 marks each, to be answered in around 500 words.  Any

two questions must be answered out of given four.

PAPER- I: BUSINESS ECONOMICS
Unit- I

Introduction- Meaning and Definition of Business Economics. Its Role

in Business Decisions. Business Forecasting : Meaning, Importance

and Methods. Static and Dynamic Economics, Micro and Macro Eco-

nomics, The Economic Problem and Functions of Economic System.

Unit-II
Consumption- Traditional Theory of Consumer’s Equilibrium. Demand

and Law of Demand. Elasticity of Demand: Its Measurement and Uses

of the Concept of Elasticity of Demand. Indifference Curve: Meaning,

Characteristics, Consumer’s Equilibrium, Income Effect, Price Effect,

Substitution Effect, Derivation of Demand Curve from Indifference Curve.

Unit –III
Production- Production Function: Laws of Returns, ISO- Product Curve,

Least Cost Combination of Factors, Returns to Scale, Cost Concepts
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Structure of C Program; Character Set, Tokens, Variable, Constant; Data

Types; Operator, Expressions, Type Conversions; Console Input-Output

functions; Control Flow Statements and Blocks, Branching statements

and Labels.

Unit-III
Loop Structure: While, Do while, For, Modular programming: Basic types

of function, Declaration and definition, Function call, Parameter passing,

Recursion, Scope of variables, Storage classes.

Unit-IV
Arrays: Declaration and use of Array, Array manipulation; Searching,

Insertion, Deletion of an element, Strings as array of characters, Stan-

dard library string functions. Pointer: Declaring & Initializing pointers,

Accessing a variable and address of a variable, Pointer expressions,

Pointers and Function Arguments, Pointers and Arrays,

Unit-V
Structure, Union: Declaration and use. Programs to show the use of

structure, union; Concept of Files, Basic Functions for File Handling,

Basic Input/Output operations on files.

Suggested Readings
1. Programming In C By Gottfried (Tata McGraw Hill)

2. C Programming Language By Kernighan (Prentice Hall Of India)

3. C Programming By R.B. Patel, Khanna Publication.

4. Let Us C By Yashwant Kanetkar (BPB Publication)

Paper-II : Internet and Web Programming
Scheme of Examination

Maximum Marks: 75 Duration: 3 Hours
Minimum Passing Marks: 27
The question paper contains 3 sections. Section-A consists of 10 ques-
tions (2 questions from each unit of syllabus). Section-B consists of 10
questions (2 questions from each unit of syllabus). Section-C consists
of 5 questions (1 question from each unit of syllabus).
The word limit of part A, B and C are 50, 200 and 500 respectively.

Unit I
Data communication, Transmission Media- Coaxial, UTP, Optical-Fiber,
Wireless, Components of Computer Networks, Transmission Mode- Sim-
plex, Half Duplex, Full Duplex, LAN, MAN, WAN, the OSI Model, TCP/
IP and others main protocols used on the Web;Types of wireless com-
munication ( Mobile, WiFi, WiMAX, Bluetooth, Infrared – concept and
definition only). Software Piracy, Firewall, Threats, Hacking and Crack-
ing (basic concepts only for these topics).

Unit II
Evolution of Internet, Introduction to the terms LAN, WAN, MAN, Basic
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and Classification, Importance of Costs in Decision making, Cost Func-

tion in Short Run and Long Run, Law of Supply and Elasticity of Supply,

Capital Formation and Theories of Population.

Unit- IV
Exchange- General Theory of Value, Changes in the Demand and Sup-

ply and their Effects on Equilibrium Price. Time Element in Price Deter-

mination. Market: Meaning, Definition and Classification. Revenue Analy-

sis, Price and output Determination under Perfect Competition, Imper-

fect Competition (Monopolistic Competition), Monopoly, Discriminating

Monopoly and Oligopoly.

Unit-V
Distribution- Marginal Productivity Theory of Distribution, Theories of

Rent, Wages, Interest and Profit, National Income: Basic Concepts,

Measurement, National Income and Economic Welfare.

Books Recommended :
1 Agarwal M.D. & Som Deo- Business Economics ( Ramesh Book

Depot, Jaipur)

2 Mithani D.M – Fundamentals of Business and Managerial Econom-

ics. ( Himalaya , Publishing House, Bombay )

3 Paul A . Samuelson – Economics( Mcgraw Hill , New York )

4 Seth M.L – Prinicipales of Economics.

5 Stonier and Hauue- A text Book of Economic Theory .

6 Saraswat , Lodha, Sharma, Godha- Business Economics ( Ajmera

Book Co. Jaipur)

7 lkjLor] yks<+k] 'kekZ] xks?kk&O;kolkf;d vFkZ"kkL= ¼vtesjk cqd dEiuh] t;iqj½
8 O;kolkf;d vFkZ'kkL= % ekFkqj] xqIrk ¼f'koe~ cqd gkml] t;iqj½

PAPER- II: ECONOMIC ENVIRONMENT IN INDIA
Unit- I

Economic Environment -  Meaning, Factors Affecting Economic Envi-

ronment, Basic Features of Indian Economy, Impact of Economic Re-

forms on Indian Economy, Economic Planning – Meaning, Importance

and Objectives. Main Features of Indian Planning with Special Reference

to 10th, 11th and  12th Five Year Plans.

Unit-II
Population -  Characteristics, Causes of Growth, New Population Policy,

Major Problems of Indian Economy: Unemployment, Poverty and Dis-

parity of Income and Wealth. Economic Growth and Development: Mean-

ing, Measurement and Determinants.

Unit –III
Agriculture & Small Scale Industries - Role of Agriculture in Indian

Economy, Land Reforms, New Agricultural Strategy and Green Revolu-

tion, Agricultural Credit, Agricultural Productivity in India, World Trade
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4. Doongaji,S. and Deshpande R. –‘Basic Process of Clothing Con-

struction’.

5. G.J.Sumanthi.’Elements of fashion and Apparel design’.

6. Agarwal,Kothari: ‘vipnan-prabandh’.

7. Kindley,Burger : ‘International Economics’.

8. Davar,R.S.: ‘Salesmanship and Publicity’.

9. Srivastava & Agarwal:’ Vipnan –prabandh’.

10. Manaria,Joshi: ‘Salesmanship and Practice of marketing in India’.

5. COMPUTER APPLICATION
Scheme of Examination

Maximum Marks: 65 Duration: 3 Hours
Minimum Passing Marks: 23

Examination Scheme
Paper Paper Name Lec/ Totu/ Exam Max. Mini.

code (Theory) week week Hrs. Marka Pass

Marks

(36%)
Theory Papers
Paper I Programming

with C 3 1 3 75 27
Paper II Internet  &

Web
Programming 3 1 3 75 27

Total of Theory Papers
(PAPER I 65 + PAPER II 65) 150 54
Practical Papers
Practical 3 3 50 18
Total of  Practical Papers 50 18
Grand Total 200 72
The question paper contains 3 sections. Section-A consists of 10 ques-

tions (2 questions from each unit of syllabus). Section-B consists of 10

questions (2 questions from each unit of syllabus). Section-C consists

of 5 questions (1 question from each unit of syllabus).

The word limit of part A, B and C are 50, 200 and 500 respectively.

Paper-I : Programming with C
Unit-I

Basic concepts of programming: Characteristic & Implementation of Al-

gorithm, Flow Chart Symbols, Benefit and Limitations; Decision Table,

Pseudo Code. Programming Techniques: Top down, Bottom up, Modu-

lar, Structured, Features, Merits, Demerits and their Comparative study.

Unit-II
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Organization and Indian Agriculture.

Small Scale Industries - Meaning, Importance, Problems and Reme-

dial Measures. Industrial Policy and Recent Changes. Entrepreneurship

& Entrepreneur: Meaning, Definition, Features, Functions and Types.

Unit- IV
Foreign Trade of India – Volume, Composition and Direction, Export

Promotion, Investment of Foreign Capital in India. Role of Multinational

Corporations in Indian Economy. Role of Public Sector in India and its

Problems.

Unit-V
Economy of Rajasthan – Basic characteristics of Economy of

Rajasthan, Development and Prospects of Agriculture, Small Scale In-

dustries and Handicrafts, Dairy Development Programme and Tourism

Development in Rajasthan. Constraints in Economic Development of

Rajasthan and Remedies.

Books Recommended :
1 Agarwal A.N : Indian Economy.

2 Mishra and Puri: Indian Economy

3 Dewet K.K : Indian Economy .

4 Rudradutta and Sundram : Indian Economy .

5 Planning Commission: Various Plans and Reports ,

6 Swami and Gupta- Economic Environment in India ( Ramesh Book

Depot Jaipur)

7 Vashistha , Bhinda, Sharma, Lodha , Sharma- Economic Environ-

ment in India ( Ajmera Book Co. Jaipur )

8 N.D Mathur- Economic Environment in India ( Shivam Book House

Jaipur)

9 Directorate of Economics &  Statistics : Economic Review of

Rajasthan .

10 Directorate of Economics &  Statistics : Basics Statistics of

Rajasthan

11 vxzoky ,oa xqIrk & Hkkjr esa vkfFkZd i;kZoj.k ¼jes”k cqd fMiks½
12 of”k"B] fHk.<k] 'kekZ yks<k] 'kekZ & Hkkjr esa vkfFkZd i;kZoj.k ¼vtesjk cqd d½

8 vkfFkZd iz'kklu ,oa foÙkh; izcU/k
;kstuk%
nks iz”u i= vf/kdre vad & 200 U;wure mÙkh.kaZkad 72
izFke iz”u i= le; 3 ?kaVs vf/kdre vad 100
f}rh; iz”u i= le; 3 ?kaVs vf/kdre vad 100

iz'u i= & izFke % O;kolkf;d vFkZ’kkL=

 Syllabus / B.Com. Part - I_II_III / 49

dium and Long Term Credit and  Finance Methods. A brief study of ECGC

(Export Credit and Guarantee Corporation).

Unit-3
Decumentation in Foreign Trade: Commercial Invoice, GR Form, Letter

of Credit, Bill of Exchange, Shipping Bill, Marine Insurance Policy.

Unit-4
Brief study of EIC (Export Inspection Council), EPB (Export Promotion

Board), FEMA, FERA

Unit-5
Procedure of Exports-import:  study of latest Export- Import Policy of

India, Export Licence, Export House. Export Promotion schemes and

measures in India.

[Practical- Pattern Making & Dress- Designing]
Duration: 4 hrs                                                       Max. Marks: 80

[Sessional- 40+40- Final Practical]

1. Introduction of eight head theory of stick figure- 9"-10"

2. Drawing of different Posses.

3. Samples of construction process-

I. Basic hand stitches.

II. Seam and seam finishers.

III. Darts, Pleats, Tucks, gathers.

IV. Plackets & Fasteners.

V. Piping and Facing.

VI. Collars variation- Flat Peter Pan collar, Raised Peter Pan collar,

Convertible collar.

VII. Sleeves Variations-

-Slash and Spread method, Puff and Bishop Sleeve.

-Sleeve Bodice combination- Magyar, Raglan sleeve.

VIII. - Childern garments any six with the use of above methods.

4. Assignment- Sample collection:-

a) Pattern of fabric & dress for children

b) Types of fabric texture.

5. Project- Designing and preparing party wear dress for

       Child (age of 6-11 yrs.) with accessories.

Suggested Readings
1 . Erwin,Kinchen’clothing for moderns’-Macmillan Publishing, NEW

York.

2. Latze,Alpha & Heicn,’The wide work of clothing’The Ronald Press

Company,New Yok.

3. Mathews Mary’Practcal Clothing Construction’ 1&2.Cosmic Press

Madras.
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bdkÃ & 1
ifjp; %& O;kolkf;d vFkZ”kkL= dk vFkZ ,oa ifjHkk"kk] O;kolkf;d fu.kZ;ksa esa bldh
HkwfedkA O;kolkf;d iwokZuqeku % vFkZ] egRo] ,oa izfof/k;ak] LFkSfrd ,oa izkoSfxd
vFkZ”kkL=] O;f"V ,oa lef"V vFkZ”kkL=] vkfFkZd leL;k rFkk vkfFkZd iz.kkyh ds dk;ZA

bdkÃ & 2
miHkksx %& miHkksDrk lkE; dk ijEijkxr fl)kUr] ekax o ekax dk fu;e] ekax dh
yksp] bldh eki vkSj ekax dh yksp dh vo/kkj.kk ds mi;ksx A rVLFkrk oØ % vFkZ]
fo”ks"krk,a] miHkksDrk dk larqyu] vk;&izHkko] dher&izHkko] izfrLFkkiu&izHkko] mnklhurk
oØ ls ekax oØ dh O;qRifrA

bdkÃ & 3
mRiknu %& mRiknu Qyu % mRifr ds fu;e] leksRifRr oØ] lk/kuksa dk U;wure
ykxr la;ksx] iSekus ds izfrQy] ykxr ladYiuk ,oa oxhZdj.k] ykxr dk fu.kZ;u
esa egRo] vYidky o nh?kZdky esa ykxr Qyu] iwfrZ  dk fu;e ,oa iwfrZ dh yksp]
iwath fuekZ.k vkSj tula[;k ds fl)kUrA

bdkÃ & 4
fofue; %& ewY; fu/kkZj.k dk lkekU; fl)kUrA ekax ,oa iwfrZ esa ifjorZu rFkk lkE;
ewY; ij budk izHkkoA ewY; fu/kkZj.k esa le; rRoA cktkj % vFkZ] ifjHkk"kk ,oa
oxhZdj.k] vkxe fo”ys"k.k] iw.kZ izfr;ksfxrk] viw.kZ izfr;ksxrk] ¼,dkf/kdkjkRed izfr;ksfxrk½
,dkf/kdkj] foHksnkRed ,dkf/kdkj ,oa vYikf/kdkj esa dher ,oa mRiknu fu/kkZj.kA

bdkÃ & 5
forj.k %& forj.k dk lhekUr mRikndrk fl)kUr] yxku] etnwjh] C;kt ,oa ykHk
ds fl)kUr] jk"Vªh; vk; % vk/kkjHkwr vo/kkj.kk,¡] eki] jk"Vªh; vk; rFkk vkfFkZd
dY;k.kA

iz'u i= & f}rh; % Hkkjr esa vkfFkZd i;kZoj.k
bdkÃ & 1

vkfFkZd i;kZoj.k %& vFkZ] vkfFkZd i;kZoj.k dks izHkkfor djus okys ?kVdA Hkkjrh;
vFkZO;oLFkk dh ewyHkwr fo”ks"krk,¡A vkfFkZd lq/kkjksa dk Hkkjrh; vFkZO;oLFkk ij izHkkoA
vkfFkZd fu;kstu % vFkZ] egRo] ,oa mn~ns”;] Hkkjr dh iapo"khZ; ;kstukvksa dh eq[;
fo”ks"krk,¡ & nloha] X;kjgoha o ckjgoha ;kstuk ds fo”ks"k lanHkZ esaA

bdkÃ & 2
tula[;k %& fo”ks"krk,a] o`f) ds dkj.k] u;h tula[;k uhfr] Hkkjrh; vFkZO;oLFkk
dh eq[; leL;k,a & csjkstxkjh] xjhch rFkk vk; o /ku dh fo"kerk,aA vkfFkZd o`f)
o fodkl % vFkZ] eki ,oa fu/kkZjd rRoA

bdkÃ & 3

48 / Syllabus / B.Com. Part - I_II_III

influencing fashion.

Fashion cycle and forecasting.

Indian and International fashion designer’s.

Readymade garments- Importance, scope and Quality problems in

readymade garments.

Unit-2
Principles and advantages of eight head theory.

Ideal proportions at different ages from one year child to an adult.

Types of human Figures\Postures.

Taking body measurements.

Techniques in pattern making :-

a. Drafting                 b. Draping               c. Flat Pattern

Unit-3
Fitting- Principles of fitting, Factors to be considered while Fitting, Com-

mon fitting problems, remedying fitting defects of bodice, Sleeve & Skirt.

Grading- Definition, Principles of grading.

Unit-4
Elements and principle of design.

Layout of fabric such as Print, Stripes, Plaids and checks.

Color- Definition, Importance, Role of color in dress designing.

Unit-5
Clothing- Origin, Functions and scope.

Sociological, Psychological significance of clothing.

Buying criteria for redimade garment.

Costume designing for different occasions including accessories.

Paper – II (Export policies & documentation)
Duration: 3 Hrs                                                        Max.Marks: 60

Note: The question paper shall contain three section. Section A

contain 5 questions two from each unit of 2 marks each. The candidate

is required to answer all the questions. The answers should not exceed

50 words. Section B shall contain 5 questions one from each unit with

internal choice. Each questions shall be of 4 marks. The answers should

not exceed 200 words. The candidate is required to answer all the ques-

tions. Section C shall contain 5 question of 10 marks each, one from

each unit. The candidate is required to answer 3 questions. The answer

shall not exceed 400 words.

Unit-1
Selection of Export Market, Product Planning of Export Market, Selec-

tion of Trade(Export), Price Method.

Unit-2
Finance: Export Credit and Finance, Short Term Credit-sources, Me-
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Ñf"k ,oa y/kq m|ksx %& Hkkjrh; vFkZO;oLFkk esa Ñf"k dh Hkwfedk] Hkwfe lq/kkj] Ñf"k
dh uohu O;wgjpuk o gfjr ØkfUr] Ñf"kxr lk[k] Hkkjr esa Ñf"k mRikndrk] fo”o
O;kikj laxBu vkSj Hkkjrh; Ñf"kA
y?kq m|ksx %& vFkZ] egRo] leL;k,¡ vkSj lq/kkjkRed mik;A vkS|ksfxd uhfr vkSj
uohure ifjorZuA m|ferk ,oa m|eh % vFkZ] ifjHkk"kk] fo”ks"krk,a] dk;Z ,oa izdkjA

bdkÃ& 4
Hkkjr dk fons'kh O;kikj %& ek=k] lajpuk ,oa fn”kk] fu;kZr lao)Zu] Hkkjr esa
fons”kh iwath dk fofu;ksx] Hkkjrh; vFkZO;oLFkk esa cgqjk"Vªh; fuxeksa dh HkwfedkA Hkkjr
esa lkoZtfud {ks= dh Hkwfedk o bldh leL;k,aA

bdkÃ & 5
jktLFkku dh vFkZO;oLFkk %& jktLFkku dh vFkZO;oLFkk dh vk/kkjHkwr fo”ks"krk,aA
Ñf"k] y?kq m|ksx ,oa gLrdykvksa dk fodkl o Hkkoh lEHkkouk,aA jktLFkku esa Ms;jh
fodkl dk;ZØe rFkk i;ZVu fodklA jktLFkku ds vkfFkZd fodkl esa ck/kk,a ,oa mik;A

9. Garment Production and Export Mangement
(To be offered to the women candidates in Girls College only)

Scheme Duration Max. Min. Pass Period
Marks Marks Per Week

Theory Paper I 3 Hrs. 60 22 3

Theory Paper II 3 Hrs. 60 22 3

Practical 4 Hrs. 80 29 4

PAPER-1 (Textile)
Duration: 3 Hrs                                                        Max.Marks: 60

Note: The question paper shall contain three section. Section A

contain 5 questions two from each unit of 2 marks each. The candidate

is required to answer all the questions. The answers should not exceed

50 words. Section B shall contain 5 questions one from each unit with

internal choice. Each questions shall be of 4 marks. The answers should

not exceed 200 words. The candidate is required to answer all the ques-

tions. Section C shall contain 5 question of 10 marks each, one from

each unit. The candidate is required to answer 3 questions. The answer

shall not exceed 400 words.

Unit- 1
Textile Fiber :- Definition and Classification.

General Properties of Textiles Fibers.

Natural Fibers: Manufactures, Properties and uses of Cotton, Silk, Wool.

Man made fibers: Manufactures, Properties and uses of Rayon, Nylon,

Polyeter.
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bdkbZ&3
cSadksa }kjk lk[k l`tu % lk[k l`tu dh izfØ;k] eqnzk vkiwfrZ vkSj dqy cSad lk[k
dk fu/kkZj.k] ekSfnzd uhfr ,oa lk[k fu;a=.k dh rduhdsa] jktdks"kh;&uhfrA
C;kt&njsa& Hkkjr esa izpfyr fofHkUu C;kt njsa ¼tSls ck.M nj] fcy nj] tek nj
vkfn½ iz'kklfud njsa ,oa cktkj fu/kkZfjr njsa] C;kt dh njksa esa vUrj ds fofHkUu lzksrA

bdkbZ&4
bZ&cSafdx % eq[; ,oa baVjusV cSafdx dk vFkZ] {ks=] dk;Z] egRo] fof/k;ka] baVjusV
cSafdax eas tksf[ke o lko/kkfu;ka] eksckbZy cSafdax] [kqnjk cSafdaxA
bZ&Hkqxrku % ,Vh,e] vkWuykbZu [kjhnnkjh] ,ubZ,QVh] vkjVhth,l] bysDVªkWfud
lek”kks/ku iz.kkyhA uxn fofgu vFkZO;oLFkk vFkZ] vko';drk] {ks=] egRo ,oa orZeku
Hkkjrh; vFkZO;oLFkk es pqukSfr;kaA
bysDVªksfud MkVk vUr% ifjorZu % ifjp;] vk/kkj] ekud] ykHk] Hkfo";] foÙkh;
bZMhvkbZA

bdkbZ&5
laLFkkxr lk[k % laLFkkxr lk[k ds vkoaVu dh leL;k;sa ,oa uhfr;ka % ljdkj ,oa
okf.kfT;d {ks= ds e/; leL;k;sa] vUroxhZ; vkSj vUr{ksZ=h; leL;k,a] ògn vkSj y?kq
_.kx`fgrkvksa ds chp dh leL;k,aA
cSafdx lq/kkj % 1969 esa cSadkas ds jk"Vªh;dj.k ds iwoZ rFkk i”pkr~ cSadks ds fØ;kdykikas
ds lEcU/k eas fookfnr nckc] cSafdax ,oa foÙkh; O;oLFkk lEcU/kh lq/kkj] Hkkjrh; fjtoZ
cSad ds dk;Z] orZeku ifjis{; esa lk[k uhfr ,oa lhek;saA

4. Garment Production and Export Mangement
(To be offered to the women candidates in Girls College only)

Scheme Duration Max. Min. Pass Period
Marks Marks Per Week

Theory Paper I 3 Hrs. 60 22 3

Theory Paper II 3 Hrs. 60 22 3

Practical 4 Hrs. 80 29 4

Note: The question paper shall contain three section. Section A

contain 5 questions two from each unit of 2 marks each. The candidate

is required to answer all the questions. The answers should not exceed

50 words. Section B shall contain 5 questions one from each unit with

internal choice. Each questions shall be of 4 marks. The answers should

not exceed 200 words. The candidate is required to answer all the ques-

tions. Section C shall contain 5 question of 10 marks each, one from

each unit. The candidate is required to answer 3 questions. The answer

shall not exceed 400 words.

Unit-1
Fashion- Meaning, Terminology of fashion, sources of fashion, factors
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Unit – 2
Yarn Construction - Different types of Yarns.

Fabric Construction - Weaving Loom and It’s Part.

Different types of weaves – Plain, Twill, Basket, Pile, Sateen and

Jacquard.

Meaning of selvedge, warp, weft, count of cloth, balance of cloth and

thread.

Unit – 3
Fabric finishes – Meaning classification and importance to consumer.

Study of various fabric finishes- Bleaching, Calendering, Wash and Wear,

Crease Resistant, Mercerization, Mildew and Moth Resistant, Fire Proof-

ing.

Unit – 4
Dyes – Classification of dyes.

Natural Dyes, Synthetic Dyes – Acid, Basic, Sulphar, Vat, Reactive,

Direct Dyes.

Identifying dyeing defects.

Tie and Dye – Techniques.

Unit – 5
Printing – Introduction and importance, styles of printing – direct, dis-

charge, resist like block printing, stencil printing and screen printing.

Paper-2  (Business and Garment Industries)
Duration: 3 Hrs                                            Max.Marks: 60

Note: The question paper shall contain three section. Section A

contain 5 questions two from each unit of 2 marks each. The candidate

is required to answer all the questions. The answers should not exceed

50 words. Section B shall contain 5 questions one from each unit with

internal choice. Each questions shall be of 4 marks. The answers should

not exceed 200 words. The candidate is required to answer all the ques-

tions. Section C shall contain 5 question of 10 marks each, one from

each unit. The candidate is required to answer 3 questions. The answer

shall not exceed 400 words.

Unit-1
Meaning and scope of business with special reference to Garment Ex-

port trade in India.

Forms of ownership –

(1)  Sole Trader (2) Partnership          (3) Cooperative

(4) Joint Stock Company (5) Pubic Sector

(Meaning, Characteristics, Advantages and disadvantages)

Unit-2
Objects, importance and utility of book-keeping. Principles & concepts
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bdkbZ& 2
dks"k izokg fo'ys"k.k & dks"kksa ds L=ksr vkSj mi;ksx dk lS)kfUrd igyw] dk;Z”khy
iwath esa ifjorZu dk fooj.k vkSj dks"kksa ds L=ksarksa vkSj mi;ksx dk fooj.k rS;kj djukA
jksdM+ izokg fo'ys"k.k % jksdM+ izokg fooj.k rS;kj djukA dks"k izokg fooj.k ,oa jksdM+
izokg fooj.k esa vUrjA

bdkbZ& 3
foÙkh; fu;kstu vkSj iwokZuqeku & vFkZ] fo”ks"krk,a] izdkj] egRo] lhek,a vkSj
foÙkh; fu;kstu dks izHkkfor djus okys ?kVdA dk;Z'khy iwath dk izcU/k % vo/kkj.kk]
izdkj] L=ksr] fu/kkZfjr rRo ,oa dk;Z”khy iwath dk vuqekuA ykxr&ek=k&ykHk
fo'ys"k.kA

bdkbZ&4
izkI;ksa dk izcU/k % vFkZ] mn~ns”;] egRo vkSj dk;ZA
LdU/k dk izcU/k % vFkZ] mn~ns”;] egRo LdU/k Lrj dks izHkkfor djus okys ?kVd vkSj
LdU/k fu;a=.k dh izfof/k;kaA
iwath dh ykxr % vFkZ ,oa iwath dh ykxr vo/kkj.kk dk egRo] fofHkUu foÙkh; lk/kuksa
dh iwath dh ykxr] _.k iwath dh ykxr] iwokZf/kdkj va”k iwath dh ykxr] lerk va”k
iwath dh ykxr] izfr/kkfjr vk; dh ykxr] iawth dh Hkkfjr vkSlr ykxrA

bdkbZ & 5
iwath ctVu % vFkZ] ifjHkk"kk] izfØ;k ,oa iwath ctVu dks izHkkfor djus okys ?kVdA
fuf”prrk o vfuf'prrk ds vUrZxr iwath ctVu ewY;kadu dh izfof/k;kaA
ykHkka'k uhfr & ykHkka”k o ykHkka”k uhfr dk vFkZ] izdkj o lqn`< ykHkka”k uhfr ds
vko”;d rRo] ykHkka”k uhfr dks izHkkfor djus okys rRo] ykHkka”k ekWMYl vkSj mudh
izklafxdrkA

iz'u i=& f}rh; % vf/kdks"k.k ,oa foÙkh; iz.kkyh
bdkbZ &1

eqnzk % vFkZ] dk;Z ,oa Hkwfedk] eqnzk ds izdkj] ekSfnzd eku] uksV fuxZeu dh fof/k;ka]
Hkkjr esa eqnzk vkiwfrZ ds oSdfYid mik;A eqnzk dk ewY;] eqnzk dk ifjek.kkRed
fl)kUr] fQ”kj] dSfEczt ,oa dhUl n`f"Vdks.kA
Hkkjr esa eqnzk cktkj % eqnzk cktkj dk vFkZ ,oa egÙo] Hkkjrh; eqnzk cktkj dh lajpuk
,oa vax] midj.k] fo”ks"krk,¡] nks"k ,oa vk/kqfud izo`fr;k¡] eqnzk dk voewY;u] eqnzk
izlkj ,oa eqnzk ladqpuA

bdkbZ&2
foÙkh; iz.kkyh ,oa e/;LFk laLFkk,¡ % foÙkh; iz.kkyh dk vFkZ] egRo vkSj eq[;
vaxA Hkkjr eas foÙkh; e/;LFk laLFkkvksa ds izdkj] dk;Z iz.kkyh vkSj dk;ZA
Hkkjr esa iw¡th cktkj % i¡wth cktkj dk vFkZ ,oa egÙo] Hkkjrh; iw¡th cktkj dh lajpuk]
dk;Z] izeq[k midj.k vkSj vk/kqfud izo`fr;k¡A
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of double entry system.- Books of primary entry including subsidiary

books.

Unit-3
Introduction of fashion merchandising: merchandising planning, scehduling

, buying and evaluation.

Visual merchdising.

Carrees in apparel industries.

Unit-4
Cost, Costing, Element of cost regarding garment production unit.

Consumer Protection- Problems & Redressal.

Unit-5
 Budgeting- Production and Sales Budget, practical aspects of budget-

ing for Garment Production Unit.

Project Planning for Garment Production Unit –

Selection of site for unit, size of unit.

Production and Storage space, Laundry area.

[Practical- Textile]
Time: 4 hrs                                           Max. Marks: 80

[Sessional- 40 +40- Final practical]
1. Fiber identification

2. Fabric study- Balance of cloth, Types of weaves.

3.  Dyeing - Tie & dye.

Printing- Block, Screen, Stencil Printing.

4. Color- wheel, schemes, visual effect with hard Pencil , wax crayons,

oil Pastels, marker Pen & water color.

5. Developing design for decorating fabric and paper articles for various

end uses.

6. Assignment-

a)  Collection of fiber, yarn and fabric samples.

b) Collection of Labels and Tags.

Suggested Reading
1. Dantygi, Sushila: Fundamentals of Textiles and their care, Orient

Longman, Mumbai.

2. Wingate, Isabel B: Textile fibers and their selection. Practice Hall

Inc. Englewood Cliffs, New Jersey.

3. Deulkar, Durga: A guide to household textile and laundry work, Atma

Ram and Sons, New Delhi.

4. Hess, Katherine: Textile fibers and their uses, Oxford and IBH PUB-

LISHING House, New Delhi.

5. Joseph, Marjory L: Introductory Textile Science CBS college Pub-

lishing, New York.

6. Josph, Marjor L: Essentials of Textiles, CBS College Publishing,
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challenges in Present Indian Economy.

Electronic Data interchange (EDI): Introduction, Basics, Standards,

Advantages, Future, Financial EDI.

Unit-V
Institutional Credit: Problems and Policies of Allocation of Institutional

Credit, Problems Between the Government and the Commercial Sector,

Inter-Sectoral and Inter-Regional Problems, Problems Between Large

and Small Borrowers.

Banking Reforms:  Operation of Conflicting Pressure Before and After

Bank Nationalization in 1969. Banking and Financial System Reforms,

RBI Functions, Credit Policy in Present Setting and its Limitations.

Books Recommended:
1.     Bhole L.M.: Financial Markets and Institutions; Tata McGraw-Hill

Publishing Company, New Delhi.

2. Kapila Raj and Kapila Uma: Banking and Financial Sector Reforms

in India; Vol I, II, III and IV, Academic Foundations, Delhi.

3. Khan M.Y.: Indian Financial System : Theory and Practice; Vikas

Publishing House, New Delhi.

4. Madura Jeff: Financial Markets and Institutions: West Publishing

Co., New York.

5. Saunders Anthony: Financial Institutions Management a Modern Per-

spective; Irwin Publication, McGraw Hill Co., New York.

6. Srivastava.R.M.Management of Indian Financial lnstitutions;Himalaya

Pub. House, Mumbai.

7. Saraswat.Sharma,Gupta,Godha;Banking and Financial System,

Ramesh Book Depot, Jaipur.

8. Uppal R.K.: Indian Banking Industry and Information Technology (New

Century Publications, New Delhi).

3- vkfFkZd iz'kklu ,oa foÙkh; izcU/k
;kstuk %
nks iz”u i= vf/kdre vad  % 200 U;wure mÙkh.kkZd % 72
izFke iz”u i= le; 3 ?kaVs vf/kdre vad 100
f}rh; iz”u i= le; 3 ?kaVs vf/kdre vad 100

iz'u i=& izFke % foÙkh; izcU/k
bdkÃ & 1

foÙkh; izcU/k & vFkZ] {ks=] egRo vkSj lhek,¡A eq[; foÙk vf/kdkjh ds dk;ZA foÙkh;
fo'ys"k.k & foÙkh; fooj.k] vk; fooj.k vkSj fpB~Bk] foÙkh; fo”ys"k.k dh rduhdA
vuqikr fo'ys"k.k% ykHk] egRo ,oa lhek,aA rjyrk vuqikr] fØ;k”khyrk vuqikr vkSj
ykHknk;d vuqikrA
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New York.

7. Shukla M.C. AND Grewal T.S. Advanced Accounts (s. chand & Co.)

8. Gupta R.L. AND Radhaswamy M.- Advanced Accountry (Sul chand

& Sons)

9. Gupta B.D- Financial Accounting.

10 Chakraberty H. - Advanced Accounting.

11 Grewal T.S. – Elements of Accounts (S. Chand & CO.)

12 Oswal- Maheshwari- Cost Accountancy (Ramesh Book     Depot.).

10. M.D. AGRAWAL- N.P. Agrawal- Financial Management.

11. Oswal, Brdwat- Bahikhata- (Ramesh Book Depo.).

10. COMPUTER APPLICATION

Scheme of Examination
1. PASS CRITERIA
For a pass in the examination, a candidate is required to obtain at least

36% in each paper (Theory, Practical and Project) and 36% marks of

total aggregate marks of theory and practical papers separately.

1. CLASSIFICATION OF SUCCESSFUL CANDIDATE
Division Total Marks
First Division 60% and above

Second Division Above 48% and below 60%

Pass Above 36% and below 48%

Fail Below 36%

3. INSTRUCTIONS TO PAPER SETTER
The question paper contains 3 sections. Section-A consists of 10 ques-

tions (2 questions from each unit of syllabus). Section-B consists of 10

questions (2 questions from each unit of syllabus). Section-C consists

of 5 questions (1 question from each unit of syllabus).

The word limit of part A, B and C are 50, 200 and 500 respectively

4. BACKLOG

As per University Norms

5. WORKLOAD
At least 3 classes for theory class and 3 classes for practical lab should

be assigned per week for each paper.

6. INSTRUCTIONS FOT PRACTICAL EXAMINATION Each practical

exam is to be conducted by two examiners one External and one Inter-

nal Examiner. External examiner should be senior lecturer from jurisdic-

tion of other universities. Question paper of Practical Examination will be

prepared by External Examiner. Students have to perform exercise on

computer. Exercise must be written in answer books in proper documen-
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dend Models and Their Relevance.

Books Recommended:
1 Agarwal M.D. & Agarwal NP - Vitiya Prabhandha ke tatva (Ramesh

Book Depot, Jaipur)

2 Khan & Jain - Financial Management

3 Kuchhal S.C. - Corporate Financial Management

4 Pandey l.M.- Financial Management

5 Chandra Prasanna:Financial ManagementTheory and Practice;Tata

McGraw Hill, New Delhi.

6 Ravi M. Kishore - Financial Management

7 Saxena V.K. & Vashistha C.D. - Financial Management

8 dqyJs"B vkj-,l fuxeksa dk foÙkh; izcU/kA
9 ,e-vkj- vxzoky & foÙkh; izcU/k ] xfjek ifCyds”kal] t;iqjA

PAPER -II: BANKING & FINANCIAL SYSTEM
Unit-I

Money : Meaning, Functions,’ Role, Type of Money, Monetary Standard,

Methods of note issue, Alternative Measures to Money Supply in India.

Value of Money, Quantity Theory of Money, Fisher, Cambridge & Keynes

Approach.

Money Market in India: Meaning and Importance of Money Market,

Structure, Constituents, Instruments, Characteristics, Defects and Re-

cent Trends in Indian Money Market. Devaluation of Money, Inflation and

Deflation.

Unit-II
Financial System and Intermediaries: Meaning, Importance and Main

Components of Financial System. Types, Working Process and Func-

tions of Financial Intermediary Institutions in India.

 Capital Market in India: Meaning and Significance of Capital Market,

Structure, Functions, Main Instruments and Recent Trends in Indian

Capital Market.

Unit –III
Credit Creation by Bank: Credit Creation Process, Determination of

Money Supply and Total Bank Credit, Monetary Policy and Techniques

of Credit Control, Fiscal Policy.

Interest Rates: Various Rates in India (viz. Bond Rate, Bill Rate, De-

posit Rates, etc.), Administered Rates and Market Determined Rates,

Sources of Difference in Rates of Interest.

Unit-IV
E-Banking: Meaning of core & Internet Banking. Scope, Operations,

Importance, Methods, Risk & Precautions in internet Banking, Mobile

Banking, Retail Banking.

E-Payment: ATM, Online Shopping, NEFT, RTGS, Electronic Clearing

System,  Cash less Economy – Meaning, Need, Scope, Importance and
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tation. Marks distribution for Practical of 70 marks is as under

a) Four Exercise of 10 marks each 40 Marks

(Logic 04, Execution 03, Documentation 03)

b) Viva-Voce 20 Marks

c) Laboratory Exercise File 10 marks

Examination Scheme 2019
Paper Paper Name Lec/ Totu/ Exam Max. Mini.

code (Theory) week week Hrs. Marka Pass

Marks

(36%)

Theory Papers
Paper I Computer

Fundamentals

& PC Software 3 1 3 75 27

Paper II Database

Management

System 3 1 3 75 27

Total of Theory Papers
(PAPER I 65 + PAPER II 65) 140 54
Practical Papers
Practical 3 3 50 18

Total of  Practical Papers 50 18
Grand Total 200 72

PAPER - I - COMPUTER FUNDAMENTALS & PC SOFTWARE
Scheme of Examination

Maximum Marks: 75 Duration: 3 Hours
Minimum Passing Marks: 27
The question paper contains 3 sections. Section-A consists of 10 ques-

tions (2 questions from each unit of syllabus). Section-B consists of 10

questions (2 questions from each unit of syllabus). Section-C consists

of 5 questions (1 question from each unit of syllabus).

The word limit of part A, B and C are 50, 200 and 500 respectively.

Unit – I
Historical Evolution of Computers, Characteristics of computer, Classifi-

cation of Computer, Modern Computer & its Application; Block diagram

and Components of Computer System, Central Processing Unit, Memory

Unit, Microprocessor; Interconnecting the Units of a Computer, Inside a

Computer Cabinet; Functions and Characteristics of Various commonly

used Input/Output Devices; Start-up Process (Booting), Specification of

a Desktop and Laptop currently available in the market (Processor,

motherboard, memory, interface & capacity of HDD & DVD drives, I/O

ports etc).

 Syllabus / B.Com. Part - I_II_III / 43

Section B shall consist of seven questions (at least 01 question from

each Unit) of 08 marks each, to be answered in around 200 words.  Five

questions must be answered out of given seven.

Section C shall consist of four questions (at least 01 question from

each Unit) of 20 marks each, to be answered in around 500 words.  Any

two questions must be answered out of given four.

PAPER-I : FINANCIAL MANAGEMENT
Unit-I

Financial Management: Meaning, Scope, Importance and Limitations.

Functions of Chief Financial Officer (CFO).

Financial Analysis: Financial  Statements, Income Statement and Bal-

ance Sheet. Techniques of Financial Analysis.

Ratio Analysis: Advantages, Significance and Limitations, Liquidity

Ratios, Activity Ratios and Profitability Ratios.

Unit – II
Fund Flow Analysis: A Theoretical Aspect of Sources and uses of Funds.

Preparation of Statement of Changes in Working Capital and Statement

of Sources and Uses of Funds.

Cash Flow Analysis: Preparation of Cash Flow Statement. Difference

between Fund Flow Statement and Cash Flow Statement.

Unit-III
Financial Planning and Forecasting: Meaning, Characteristics, Types,

Importance, Limitations and Factors affecting Financial Planning.

Advantages and Tools of Financial Forecasting.

Working  Capital Management- Concept, Types, Sources, Determi-

nants and Estimation of Working Capital.

Cost-Volume-Profit Analysis.

Unit –IV
Receivables Management: Meaning, Objectives, Importance and Func-

tions.

Inventory Management: Meaning, Objectives, Importance, Factors

affecting Inventory Level and Techniques of Inventory Control.

Cost of Capital: Meaning and Significance of the Concept of the Cost of

Capital, Cost of Capital for Various Sources of Finance: Cost of Debt

Capital, Cost of Preference Share Capital, Cost of Equity Share Capital,

Cost of Retained Earnings, Weighted Average Cost of capital.

Unit-V
Capital Budgeting: Meaning, Definitions, Process and Factors affect-

ing Capital Budgeting. Capital Budgeting Evaluation Techniques Under

Certainty and Uncertainty.

Dividend Policy: Meaning, Forms of Dividend and Dividend Policy, Es-

sentials of Sound Dividend Policy. Factors affecting Dividend Policy, Divi-
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Unit – II
Need & Types of Software: System & Application software; Program-
ming Languages: Machine, Assembly, High Level, 4GLs, Assemblers,
Compilers and Interpreter; Objectives of Operating System, Concept of
CUI & GUI; Installation of Windows Operating System, Installation of
Printer and Other Software Packages such as Ms Office etc; Backup
and Restore Operations. Features of Windows; Various versions of Win-
dows, Desktop, Explorer, Searching, Recycle Bin, Setting common de-
vices using Control Panel, System Tools, Disk cleanup, defragmentation,
scanning for virus, Windows Accessories.

Unit – III
Features of Word Processor: Create, edit, store, print documents, Navi-
gation of documents, cut, copy & paste, Find & replace, Different Page
Views and layouts, Alignment, formatting features, Tabs & Indents, In-
serting tables, pictures, hyperlinks, Spell checking, Macros, Mail merge,
Template, Wizards, Overview of Index and Tables. Importing and export-
ing to and from various formats.

Unit – IV
Features of Spreadsheet: Creating, saving, editing, moving around a
worksheet, workbook; Inserting, deleting navigation in worksheets, Work-
ing with Formula, Cell reference, Functions (Financial, Database, Maths,
Trigonometric, Statistical etc); Creating, editing, selecting and naming
range. Format Feature, Changing alignment, Character styles, Date For-
mat, Border & Colors etc. Previewing & Printing a worksheet, Goal Seeks,
Pivot Table, Creating Charts & Graphs. Database in worksheet, Data
organization- what-if analysis, Macro, Linking and embedding.

Unit – V
Power Point Presentation Package: Creating Presentation, Different pre-
sentation templates, Setting backgrounds, layouts, Customizing, For-
matting a presentation, Adding Graphics and effects to the presentation,
Printing Handouts, Generating standalone presentation viewer.
Suggested Readings
1. Computer Fundamental By P.K. Sinha (BPB Publications)
2. Upgrading and Repairing PCs By Scott and Mueller, Techmedia,

New Delhi
3. Rapidex MS Office By Vikas Gupta (Pustak Mahal)
4. Absolute Beginners Guide to Computer Basics By Miller M, Pearson

Education,
5. Fundamentals of Computers By Balagurusamy E, Tata McGraw-Hill

By Wiley INDIA

PAPER - II - DATABASE MANAGEMENT SYSTEM
Scheme of Examination

Maximum Marks: 75 Duration: 3 Hours
Minimum Passing Marks: 27
The question paper contains 3 sections. Section-A consists of 10 ques-
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lapkyd( izcU/kd lapkyd rFkk iw.kZdkfyd lapkydA vU;k; ,oa dqizcU/k dh
jksdFkkeA dEiuh dk lekiu izdkj ,oa rjhdkA

bdkbZ&4
daiuh lfpo % ifjHkk"kk] egRo] fLFkfr] ;ksX;rk] fu;qfDr] in ls gVkuk] 'kafDr;ka]
drZO;] nkf;Ro ,oa lfpo dh Hkwfedk( lfpoh; O;ogkj] O;ogkj ds {ks= ,oa O;ogkj
dk izek.k i=A

bdkbZ&5
dEiuh lHkk,a& izdkj( iwjd la[;k( ernku( izLrko lw{e( cgqer dh 'kfDr;ka(
vYier ds vf/kdkj] dEiuh dk lkekftd mrjnkf;RoA

iz'u i=&2 foi.ku ds fl)kUr
bdkbZ 1

izLrkouk& foi.ku dh izÑfr( {ks= ,oa egRoA foi.ku vo/kkj.kk&ijEijkxr ,oa
vk/kqfud] fodz;.k cuke foi.ku] foi.ku vUryZ;A

bdkbZ 2
foi.ku i;kZoj.k] miHkksDrk O;ogkj ,oa cktkj foHkfDrdj.k&vk'k; ,oa egRo izÑfr
cktkj foHkfDrdj.k ds vkdkjA

bdkbZ 3
mRikn&mRikn vo/kkj.kk] miHkksDrk ,oa vkS|ksfxd mRiknA mRikn fu;kstu ,oa
fodklA iSdsftax&Hkwfedk ,oa dk;Z] czk.M ,oa VsªMekdZ] mRikn thou pØA

bdkbZ 4
dher % foi.ku vUryZ; esa dher dk egRoA dher dks izHkkfor djus okys ?kVdA
cV~Vk rFkk NwVA forj.k okfgdk,a ,oa HkkSfrd forj.k& forj.k okfgdk,a&vo/kkj.kk]
Hkwfedk] forj.k okfgdkvksa dk izdkj] forj.k okfgdkvksa ds p;u dks izHkkfor djus okys
?kVd] QqVdj ,oa Fkksd foØsrkA mRikn dk HkkSfrd forj.k&ifjogu] Hk.Mkj.k] lkexhz
rkfydk fu;a=.k ,oa vkns'k izfØ;.kA

bdkbZ 5
lao)Zu % lao)Zu fof/k;ka] lao)Zu vUryZ;A foKkiu&blds ykHk ,oa lhek,aA izHkkoh
foKkiu dh fo'ks"krk,aA oS;fDrd foØ;% foØ; ,d jkstxkj ds volj ds :i esaA
lQy foØsrk ds xq.k] foØsrk ds dk;ZA

3. ECONOMIC ADMINISTRATION AND FINANCIAL MANAGEMENT
Scheme

Duration Max. Marks Min. Pass Marks
Two Papers 200 72
Paper I 3 hrs. 100
Paper II 3 hrs. 100

There shall be three (03) Sections in the Question paper.

Section A shall consist of ten questions (02 questions from each Unit),

of 02 marks each, all compulsory to be answered in around 50 words.
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tions (2 questions from each unit of syllabus). Section-B consists of 10

questions (2 questions from each unit of syllabus). Section-C consists

of 5 questions (1 question from each unit of syllabus).

The word limit of part A, B and C are 50, 200 and 500 respectively.

Unit I
Data, Data Processing, Merits and demerits of file organisation. Data-

base Overview, Purpose of the Database system, File systems Vs. Da-

tabase Systems, View of Data: Data Abstraction, Instances, Schema,

Data Models: Overview of Network, Hierarchical, and Relational Model,

Database Architecture and Administrators, Codd’s Rules.

Unit II
ER Model: Basic Terminology, Entity, Entity sets, attributes and keys,

Relation and Relationship sets, Entity-Relationship Diagram, Weak and

Strong entity types, Features of E-R Model, Specialization, Generaliza-

tion Aggregation, Creating table from ER diagram. Basic Concept of

Normalization up to BCNF.

Unit III
Implement Database concepts using Access, Creating Tables, Data Types,

Entering Data, Table Design, Indexing, Importing Data, Operators and

expressions, expression builder, various functions of Access, Import and

Export Table, Creating Queries, Setting Relationship between Tables,

Creating Forms, Controls and components of form, Master table and

transaction table. Join property, various join options available in access,

Creating & Printing Reports.

Unit IV
Query Languages: DDL, DML, DCL, Introduction to SQL, Data Types,

Basic SQL commands like Create, Alter, Drop, Truncate, Insert, Update,

Delete etc, Basic SQL Queries, Union, Intersect and Except, Nested

Queries.

Unit V
Transaction management and Concurrency control,Transaction manage-

ment: ACID properties, serializability and concurrency control, Lock based

concurrency control (2PL, Deadlocks),Time stamping methods, optimistic

methods, database recovery management.

Suggested Readings
1. Database Management System By A. Silberschatz, Henry F.Korth,

S. Sudershan (McGraw-Hill)

2. An Introduction to Database System By C.J. Date (Addision Wesley)

3. Fundamentals of DBMS By Gupta, Dhillon, Magho, Sharma

(Lakhanpal Publishers)

4. Teach yourself Access. Sieglel, BPB

5. Introduction to Computer Data Processing and System Analysis By

V K Kapoor (Sultan Chand and Sons)
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Product : Concept of product, consumer and industrial goods; product

planning and development; packaging-role and functions, brand and trade

mark; product life cycle concept.

Unit IV
Price : Importance of price in the marketing mix; factors affecting price of

a product/service; discounts and rebates. Distribution channels and physi-

cal distributions; Distribution channel : concept and role; types of distri-

bution channels; factors affecting choice of a distribution channel; Re-

tailer and wholesaler; physical distribution of goods; transportation; ware-

housing; inventory control; order processing.

Unit V
Promotion: methods of promotion; optimum promotion mix; advertising

media: their relative merits and limitations; characteristics of an effective

advertisement; personnel selling; selling as a career; qualities of a suc-

cessful sales person; functions of salesman.

Book Recommended

- vxzoky dksBkjh foi.ku ds fl}kUr
· Philip Kotler Marketing Management

· Stanton W.J. Fundamentals of Marketing

- jktiqjksfgr foi.ku ds fl)kUr
· Bushkirk Principles of Marketing

· Jh okLro izsedqekj foi.ku izcU/k
· Dr. R.L. Nolakha Principles of Marketing

· Rajpurohit Principles of Marketing

· Mathur, Gupta Marketing Management

O;kolkf;d izcU/k
;kstuk

nks iz'u i= U;wure mÙkh.kkZda 72 vf/kdre vad 200
izFke iz'u i= le; 3 ?k.Vs vf/kdre vad 100
f}rh; iz'u i= le; 3 ?k.Vs vf/kdre vad 100

iz'u i=&1 dEiuh lfUu;e
bdkbZ&1

fuxeh; O;fDrRo( dEifu;ksa dk oxhZdj.kA dEiuh dk izorZu ,oa lekesyuA ik"kZn
lhekfu;e] ik"kZn vUrfuZ;e

bdkbZ&2
izfooj.k ] va'k] va'kiwath] lnL;] va'kksa dk gLrkUrj.k ,oa gLrkadu] iawth izcU?k( _.k
ysus ds vf/kdkj( cU/kd( izHkkj ,oa _.k i=A

bdkbZ&3
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11. TOURISM AND TRAVEL MANAGEMENT
PAPER - I  :  TOURISM  MANAGEMENT

Unit - I
Introduction to Tourism and Tourism Industry.

Definitions : Tourism, Tourist, Travller, Excursion, Tourist Definition.

Tourism Products and their Features, Types of Tourist.

Unit - II
Brief Hostory & Development of Tourism in India & Abroad.

Reasons for Growth of Tourism

Tourism Terminology

Unit - III
Frontier Travel Formalities; Passport, VISA, Custom Clearance, Cur-

rency Regulation, Health Regulation, etc.

Issuing of Passport, VISA & its Types

Hurdles in Tourism Industry

Unit - IV
Tourism Organizations: Introduction & Functions

International Organization like W.T.O, P.A.T.A, I.A.T.A,I.C.A.O

Domestic Tourism Organization like I.T.D.C., T.A.A.I, I.A.T.O, etc.

 Unit - V
Tourism Measurement: Meaning, Need & Importance.

Methods of Measurement in International Tourism, Problems in mea-

surement & their solutions.

Important Tourism Abbreviations used in Tourism Literature like Apt.,Svc,

HIth., etc. Airport codes and city codes.

Suggested Books :

1. Dr. Ashok Sharma : Tourism Development, RBSA Publishers,

Choura Rasta, Jaipur

2. J.M.S. Negi  :  Passport and Principles of Tourism, Gitanjali Pbl

3. David W. Howell  :  Passport  :  An Introduction to the Travel and

Tourism Ohio, 1989

4. Shuita Chopra  :  Tourism Development in India, New Delhi, 1992

5. Robbert Chritie Mill  :  Tourism System New Jersey, 1992

6. Virendra Kaul  :  Tourism and the Economy, New Delhi 1994

7. IITTM  :  Tourism as an Industry, Monograph, IITTM, New Delhi

PAPER - II  :  HOSPITALITY  MANAGEMENT - I
Unit - I

Hospitality Management -  Meaning and Types.

Profit Oriented & Non Profit Oriented Welfare Services.

Hotel  -  Meaning & Classifications.
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Section A shall consist of ten questions (02 questions from each Unit),

of 02 marks each, all compulsory to be answered in around 50 words.

Section B shall consist of seven questions (at least 01 question from

each Unit) of 08 marks each, to be answered in around 200 words.  Five

questions must be answered out of given seven.

Section C shall consist of four questions (at least 01 question from

each Unit) of 20 marks each, to be answered in around 500 words.  Any

two questions must be answered out of given four.

PAPER I : COMPANY LAW
Unit I

Corporate personality; Kinds of companies, Promotion and incorporation
of companies. Memorandum of association; Articles of association.

Unit II
Prospectus, Shares, Share capital; Members; Share transfer and trans-
mission, Capital management: borrowing powers, mortgages and charges,
debentures

Unit III
Directors: Managing director, Whole time director, prevention of opera-
tion and mismanagement. Winding up: Kinds and conduct.

Unit IV
Company Secretary: Definition, Importance, Position, Qualifications,
Appointment, Removal, Powers, Duties, Liabilities and Role. Company
Secretary in Practice, Areas of practice and certificate of Practice (CoP)

Unit V
Company meetings: Kind, quorum, voting, resolutions, minutes; Major-
ity powers and minority rights. Corporate Social Responsibility.
Books Recommended

vxzoky dksBkjh dEiuh vf/kfu;e ,oa lfpoh; i)fr
tks'kh] [khapk] xks;y dEiuh vf/kfu;e
ekFkqj] ukSy[kk dEiuh vf/kfu;e ,oa lfpoh; Ik|fr
Avtar Singh Company Law

N.D. Kapoor Company Law

Paper II: Principles of Marketing
Unit I

Introduction : Nature and scope of marketing; importance of marketing;

Marketing concepts– traditional and modern; selling vs marketing; mar-

keting mix.

Unit II
Marketing environment; Consumer behaviour and market segmentation:

Nature, scope and significance of consumer behaviour; Market segmen-

tation concept and importance; bases for market segmentation.

Unit III
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Hotel Terminology.

Unit - II
Plans  -  Definitions, Types and Their Applicability.

Clientele  -  Definitions & Types.

Type of Accommodation.

Telephone Courtesy. Telephone System (PBX, EAPBX etc.)

Unit - III
Tariff Card  -  Definition, Planning of Tariff Card.

Room Rates  -  Types, Fixing of Room Rates, Hubbart Formula.

Check - in  & Check - out Procedure.

Front Office Dept.- Introduction and Functions.

Unit - IV
Mails in Hotel  -  Types and Handling.

Messages  -  Sources, Handling and Delivering.

Paging System  -  Meaning and Procedure.

Transcript Report  -  Introduction and Preparation.

Unit - V
Reservations  -  Modes, Sources, Charting and Cancellation.

Billing System  -  Types, Methods of Billing, Procedure.

Duties and Responsibilities of Front Office Staff.

Handling Foreign Currency & Credit Card in Hotels.

Suggested Book :

A Manual of Hotel Reception JKS Beavis van S. Medlik (Hejneman) Ho-

tel Reception, H. Backley and Whit (Edward Anali)

Hotez Front Office Training Manual, Sudhir Andrews (TMH).
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izR;{k Je % izR;{k Je ykxr ,oa bldk fu;U=.kA le; fu/kkZj.k ,oa le; dk
ys[kkA etwnwjh Hkqxrku dh jhfr;k¡A O;fDrxr ,oa lkewfgd cksul ;kstukA

bdkbZ&2
mifjO;; % mifjO;;ksa dk vFkZ] mifjO;;ksa dk vuqHkktu ,oa vo'kks"k.kA vYi ,oa
vf/k olwyh dk O;ogkj ,oa fuiVkjkA iz'kklfud] foØ; ,oa forj.k mifjO;;ksa ij
fu;U=.kA  bdkbZ ykxr fu/kkZj.kA

bdkbZ&3
Bsdk ykxr fu/kkZj.kA izfØ;k ykxr fu/kkZj.k ¼pkyw dk;Z ds ewY;kadu dks NksM+dj½

bdkbZ&4
izeki ykxr ys[kkadu % vo/kkj.kk,a] egRo ,oa lhek,a] fopj.kksaa dk fo'ys"k.k
¼dsoy lkexzh ,oa Je fopj.k½A ykxr o forh; ys[kksa dk feykuA

bdkbZ&5
lhekUr ykxr ys[kkadu ,oa lefoPNsn fo’ys”k.k ¼izcU/kdh; fu.kZ;ksa dks NksM+dj½
ifjpkyu ykxr ys[kkaduARules of guest floor-Majds Cart-Bed making

room maintenance procedure.

Procedure for requesting fresh Iinen-Guest supplies

Records kept in floor linen room.

Par stock lost and fund procedure, cleaning methods, agents.

Wake call procedure seanty baggage procedure.

Unit III
Left luggage procedure.

Keys and keys control types of keys

Room maintenance, lobby and lounge maintenance.

Inspection of checked out rooms.

Unit IV
Case study, guest fall ill, death in hotel, fire in hotel,

Unit V
vandalism, cuisines: type of cuisine, catering - meaning, classification

services types of services layout of table cover, menu, types, planning,

control systems in catering, area methods of cooking, organization of

restaurant, duties and responsibilities of principal staff of catering.

Recommended Books :

Hotel and Restaurant Guide India, New Delhi, 1997

F & B Service, Sudhir Andrews, TmW.

2. BUSINESS MANAGEMENT
Scheme of Examination

Min. Pass Marks - 72  Duration - 3 Hrs. Max. Marks – 200

Paper – I and Paper - II (100 + 100 = 200)
There shall be three (03) Sections in the Question paper.
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SCHEME  OF  EXAMINATION

There shall be three (03) Sections in the Question paper.

Section A shall consist of ten questions (02 questions from each Unit),

of 02 marks each, all compulsory to be answered in around 50 words.

Section B shall consist of seven questions (at least 01 question from

each Unit) of 08 marks each, to be answered in around 200 words.  Five

questions must be answered out of given seven.

Section C shall consist of four questions (at least 01 question from

each Unit) of 20 marks each, to be answered in around 500 words.  Any

two questions must be answered out of given four.

DISTRIBUTION OF MARKS

S.N. Name of the Papers Duration Max. Min. Pass
Subject/Papers Marks Marks

Core Subjects :

1. Accountancy & business Statistics

Paper I 3hrs. 100 } 200 72
Paper II 3hrs. 100

2. Business Management

Paper I 3hrs. 100 } 200 72
Paper II 3hrs. 100

3. Economic Administration & Financial Management

Paper I 3hrs. 100 } 200 72
Paper II 3hrs. 100

Additional Optional Subject :-

4. Garment Production and

export Management Paper-I 3hrs. 60 } 120 44
Paper-II 3hrs. 60

Practical 2  4hrs. each 80 28

Vocational Subjects :

5. Computer Applications

Paper-I 3hrs. 65 } 130 46

Paper-II 3hrs. 65

Practical 3hrs. 70 26
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1. Oswal, Aggarwal, Garg, Saxena, Khatri, Munjral- Cost Accounting

(Ramesh Book Depot, Jaipur)

2. Banerjee B.- Cost Accounting (World press Calcutta)

3. Jawahar Lal – Cost Accounting (Tata Mc graw Hill, Delhi)

4. Meheshwari& Mittal – LagatLekhnkan( MahaveerPrakashan,

Delhi)

5. Jain &Narang- Cost Accounting (Kalyani Publication, Delhi)

6. Jain, Khendelwal&Pareek – Cost Accounting (Ajmera Book Co.)

ys[kkdeZ ,oa O;kolkf;d lkaf[;dh
Ikz'u i= 1 djk/kku % vk;dj fo/kku ,oa ys[ks

bdkbZ&1
ifjp; ,oa ifjHkk"kk,a] djnkrk dh fuokl fLFkfr ,oa djnkf;Ro] osru 'kh"kZd ds
vUrxZr dj ;ksX; vk; dh x.kukA

bdkbZ&2
edku lEifÙk ls vk;] O;kikj vFkok is'ks ls vk; 'kh"kZdks ds vUrxZrdj ;ksX;
vk; dh x.kukA

bdkbZ&3
iwathykHk] vU; lk/kuksa ls vk; dh x.kuk] vk; dk ;ksx rFkk feykuk] gkfu;ksa dh
iwfrZ djuk ,oa vkxs ystkuk] dj eqDr vk;saA

bdkbZ&4
ldy dqy vk; esa ls dVkSfr;k¡] O;f"V;ksa dh dqy vk; ,oa djnkf;Ro dh x.kuk]
fgUnw vfoHkkftr ifjokj dh dqy vk; ,oa djnkf;Ro dh x.kukA

bdkbZ&5
lk>snkjh QekZsa dk QekZsa dh rjg ,oa O;fDr;ksa ds leqnk; dh rjgdj fu/kkZj.k
gsrq dqy vk; ,oa djnkf;Ro dh x.kuk] mn~xe LFkku ij dj dh dVkSrh ,oa
vk;dj ds vfxze Hkqxrku ds lEcU/k esa izko/kkuA dj fu/kkZj.k izfØ;kA
uksV % 'kS{kf.kd l= izkjEHk gksus dh rkjh[k ls Bhd iwoZ dh 1 vizSy ls izkjEHk dj
fu/kkZj.k o"kZ ls lEcfU/kr fo/kku ,oa fu;eksa dk v/;;u djuk gSA

Ikz'u i= 2 % ykxr ys[kkadu
bdkbZ&1

ifjp; % ykxr ys[kkadu dh izÑfr] mís'; ,oa egRo] fofHkUu ykxr vo/kkj.kk;sa
ykxr fu/kkZj.k ,oa fu;a=.kA ykxr] foÙkh; ,oa izca/k ys[kakdu esa vUrjA ykxr
fu/kkZj.k i)fr dh LFkkiukA ykxr ds rÙo] ykxr fu/kkZj.k dh izfof/k;k¡ ,oa
jhfr;k¡A
izR;{k lkexzh % lkexzh dk Ø; ,oa lkexzh dk fuxZeu] vkfFkZd vkns'k ek=k rFkk
fofHkUu Lrjksa dk fu/kkZj.kA lkexzh fuxZeu ds ewY;akdu dh jhfr;k¡A lkexzh
fu;U=.k dh pqfuUnk rduhds&v-c-l fo'ys"k.kA
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6. Tourism & Travel Paper-I 3 hrs. 60

Management Internal 15 200 72

Paper-II 3 hrs. 60  }
Internal 15

                Project report & Viva-Voice 50

Note :
(i) One of the additional subject may be offered in under graduate,

Commerce Class in addition to compulsory paper of Hindi/English and

the three core subject of commerce faculty. The marks of the additional

optional subject and combined paper shall not be counted towards

awarding of division.

(ii) If the candidate passes in the particular addl., subject same shall be

mentioned in marks-sheet and degree.

(iii) The candidate have to clear the combined paper in the three chance.

(iv) Non-appearance or absence in the examination of combined paper

will be counted as a chance.

1. ACCOUNTANCY AND BUSINESS  STATISTICS
There shall be three (03) Sections in the Question paper.

Section A shall consist of ten questions (02 questions from each Unit),

of 02 marks each, all compulsory to be answered in around 50 words.

Section B shall consist of seven questions (at least 01 question from

each Unit) of 08 marks each, to be answered in around 200 words.  Five

questions must be answered out of given seven.

Section C shall consist of four questions (at least 01 question from

each Unit) of 20 marks each, to be answered in around 500 words.  Any

two questions must be answered out of given four.

PAPER – I : TAXATION-INCOME TAX LAW & ACCOUNTS
Unit - I

Introduction and definitions, Residential Status and incidence of tax,

computation of taxable income under the head salary.

Unit - II
Computation of taxable income under the heads : income from house

property, income from business or profession.

Unit - III
Computation of income from capital gains, Income from other sources,

Aggregation and clubbing of income, set off and carry forward of losses,

Exempted incomes.

Unit - IV
Deductions from Gross Total income, Computation of total income and

tax liability of individuals, Computation of total income and tax liability of

Hindu Undivided family.

Unit - V
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Computation of total income and tax liability of partnership firms assessed

as such and assessed as Association of Persons. Provisions regarding

deduction of tax at source and Advance  payment of tax. Assessment

procedure.

Note : The act and Rules which are relevant for the assessment year

beginning form 1st  April immediately preceding the date of

commencement of the Academic Session.

Suggested Books :

1- vk;dj fo/kku ,oa ys[kk&lqFkkj] eksnh] lDlsuk] eaxy] [k=h] eqtjky
¼jes'k cqd fMiks½

2- vk;dj&pkS/kjh] tkafxM+] flag] ¼pkS/kjh izdk'ku] t;iqj½
3. Singhania V.K. – Students Guide to income tax

4. Prasad Bhagwati – income tax

5- esgjks=k ,p-lh-&vk;dj fo/kku ,oa ys[ks ¼lkfgR; Hkou] vkxjk½
6. Meharotra H.C. – Income Tax Law & Accounts.

PAPER – II : COST ACCOUNTING
Unit - I

Introduction : Nature, objectives and significance of Cost Accounting.

Various cost concepts. Ascertainment and control of cost. Difference

between Cost, Financial and Management Accounting. Installation of

costing system. Elements of cost. Techniques and methods of cost.

Direct Material : Purchase & issue of materials, Economic order Quantity

and determination of various levels of inventory. Methods of pricing the

issuing of material. Selective inventory control techniques – A.B.C.

Analysis.

Direct Labour : Direct labour cost and its control. Time keeping and

time booking. Methods of wage payment. Individual & group bonus plans.

Unit - II
Overhead – Meaning of overhead. Apportionment and absorption of

overhead. Treatment and dispositions of Under and over recovery. Control

of administration, selling & Distribution Overheads. Unit costing.

Unit - III
Contract Costing. Process Costing (Excluding valuation of works- in-

progress)

Unit - IV
Standard Costing : Concepts, Significance and limitations. Analysis of

variances (Material and labour variances only) Reconciliation of cost

and financial accouting.

Unit - V
Marginal costing and BEP Analysis (Excluding Managerial

Decisions). Operating Costing.

Suggested Books :


